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Learn

Name Math is all around us. We see it in our homes. We see it on the
playground. We see it when we go shopping.

The Longest Path
W all have a math story,

What is the longest path across the grid from blue line to blue

line? Your path cannot touch the red edges of the grid. Look for Let’s learn about our teacher’s math story.

two different paths, T

'What did you like about math when you

wire in school? do I Eke

about math?

What didn’t you lka?

What can | do to
understand my feelings?

What da yau think about math now?

What can | do to make

sure I'm ready to learn?
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‘What do you see as your
strengths in math? What are my
strengths in math?

‘What's your favorite thing about math? Mindszet

What did | like
about math today?

Q1 Work Together

What are some other guestions you can ask your teacher about
their math story?
Answers may vary.

On My Own -

Name —_— -

What is my math story?

Answers may vary.

0 Reflect
What about my “Math Me" do | want someone else 1o know?
Answers may vary.




Learn

Heather added two 2-digit numbers.
There wasn't a zero in either number.

B+l =10
What could be the numbers Heather added?

K When we do math, we use many strategles to make sense
of problems.,
| know:
« The two numbers have a sum of 100.
« The numbers do not have zeros.
« |can write an equation,

What do | know
about the problem?

| Ed B

| can ask:
«  What d 1 ?
at two addends sum to 100 What questions can
« Can the two numbers be 50 and 507 | ask myself about
Or 60 and 407 the numbers?

B - oo
No, because those numbers have zeros.
B When we do math, we work 10 solve problems but sometimes

the first try doesn’t work. We keep trying and don’t give up.

| can think about different
numbers 1o try

B+l =10

Perseverance

What Is another way to
think about the problem?

8 Lesson2 « Mas K Exploring and Thinking

K ‘When we do math, we think about numbers in all sorts of ways.

The digits in the ones place and the tens

Thinking
place rmust add to 10. | can think about it caril S
numbers that add to 10,

about the numbers?

Bl -r

What ather numbsers do | know that sum o 107
+ 545446 2+ 8al sumitoc 10

K ‘When we do math, we think about how numbars
and guantities relate.

Wil | meid 1o Fegroup anes to a ten

or tens to a hundred?

= Ifthe nembers in the anes place
add up to 10, | will need to regroup.

Connections
What questions can

1 ask mysalf about
the numbers?

‘What does that mean for the numbers ]
in the tens place?
« The numbers in the tens place must add up to 5.

Q) Work Together

Juno added twao different 2-digit numbsers,
Meither number had a zero in it

The sum of the new numbers is 50.

What could the two numbers be?

Sample answer: The two numbers could be 29 and 21.




On My Own - @I$ Learn

Name

On another problem, Heather added three
different 2-digit numbers,

None of the 2-digit numbers had a zero in 1.

The sum of Heather's new numbers is 75,

What might be Heather’s three numbers?

Sample answer: The three numbers could be 37, 24,

and 14. | can think about which three numbers sumto 5
or 15. Then find 3 numbers that sum to 70 or 60.

@ Reflect

Tell about a time when you had a preblem and you didn't give
up. It might be a math problem, but it might be a problem you
had playing a game, playing a sport, playing an instrument,
drawing a picture, or doing a puzzle.

Answers may vary.

Jockson has 7 base-ten blocks,

What numbers might Jackson make with all seven of his blocks?

B When we do math, we make models of probiems 1o help us

think about the math.

| can make a drawing to visualize the base-ten blocks.
« There are three different kinds of base-ten blocks,

I'l draw each kind,

How can | visualize
the problem?

| can use drawings or manipulatives to represent the problem.

« Ineed to have 7 blocks in all

| can think about other solutions.

12 Lesson3 » Mesh ks In My Word

In My World

How can | represent
the problem?




K When we do math, we use different tools, Sometimes any tool
can work and other times, one tool is the best choice.

| can use base-ten blocks to represent and solve the problem,

« Jackson might have flats, rods,
or units, He could have 2 flats,
1rod, and 4 units,

What tool can | use to
represent the problem?

~

Base-ten blocks can help me show the
blocks and numbers that Jackson made,

What tools can | use to
solve the problem?

' |

+0+4=214

200

Q Work Together

Jackson grabbed 5 base-ten blocks from the bin.

What numbers might Jackson make with all five of his blocks?
Sample answer: Jackson might have 1 flat, 3 rods
and 1 unit, so the number is 131,

On My Own - @lgﬁ

Name

Jamil grabbed six blocks and three of the blocks were the same.
What are some of the numbers Jamil might make with ali 6

of his blocks?

Sample answer: The three blocks that are the same
could be 3 flats. He might also have 1rod and 2 units,
s0 one number is 312. If the three blocks that are the
same are rods, Jamil might have 1 flat, 3 rods, and 2
units, representing 132.

@ Reflect

What are some ways | can show a problem in math?
Answers may vary.

What toots have | used in math before?

Answers may vary,




Learn

Eva has 9 coins in her pocket,

She has more than $1.00 but less than $2.00,
How much money might Eva have in her pocket?

K When we do math. we explain and defend our thinking.
Sometimes we use words 10 create an argument. Sometimes
we use numbers and pictures,

| can use words, equations, or drawings

to explain my thinking.
Eva might have:
@8 -~
How can | explain
88O =490 my thinking?
. . = 10¢
® =1

Her total, $1.01 is between $1 and $2.

K When we do math, vee listen to the arguments of others and
think about what makes sense and what doesn't.

r

Someone else might have another Idea,

They might think that Eva has:

3 quarters = 7/5¢

2 dimes = 20¢ Do others’ ideas
make sense 1o me?

4 nickels = 20¢ -

0O pennies = 0Og

Her total, $115 is between $1 and $2.

16 Lessond « Mam b5 Sxplaining and Sharing

B When we do math, we think about whéther an estimate or an
exact answer is appropriate.

| nead an exact answer that is between
$tand $2.

Do I need an exact
answer or an estimate?

|

K When we make arguments, we try 1o be precise, We use
correct vocabulary and make sure our calculations are accurate.
We label our dravings and include units of measurement.

Precision

What units did | use
to label my drawings?

| labeled each drawing with the value of
the coin. Quarters are 25¢. Dimes are 10¢.
Nickels are 5¢ and pennies are 1¢.

@ Work Together

Oscar has two bills and five coins. He has between $5.00
and $10.00,

What bills and coins might Oscar have? How do you know?

Sample answer: Oscar might have one $5 bill, one
$1 bill, three quarters, one dime, and one nickel for
a total of $6.90.




Learn K Pattemns can help you solve problems efficiently. Patterns can
How are the equations in the Be Curious related? also help you solve problems that are similar.
K When we do math, we look for patterns and relationships.

| | can see a rule in the equations.

| know that | see a pattern when | see something | 1+9=10 A+9=30 What is the rule for this
over and over again. | 2+8=10 22+8=30 pattern?

+ There is a pattern in these equations. |+ Combinations of ten are like combinations of 30,

+  The digits in the cnes place always add to 10, | How do | know that | * 21is 20 more than 1 and 30 is 20 more than 10.

149=10 2149=30 | can use this pattern to find other sums. Generalizations

2+8=1 22+8=130 [ If I know that 4 4+ 6 = 10, How does this pattern help

347=10 23+7=30 then | can know 24 + 6 = 30 me work more efficiently?

- and 84 + 6 =90, T

Patterns can help me solve a problem.

« Using the pattern above, | can solve these equations,

A +9m?

42+8=7 How can the pattemn help

3+7=2 me solve the problem? e Work T°”mr \
?

44+6=2 How are these equations related?

B+9=7 B+19=7 B+29=2 B8+59=7
4+49=7 4+439=7 4+469=7 4+99=17

What other equatlons can you write that follow the
same pattern?

Sample answer: Adding 9 gives a sum one less
than adding 10.8 + 9 =18 — 1or 17 and

4 4+ 9 =14 — 1 or 13. The digit in the ones place for
the first row will always be 7; the digit in the ones
place for the second row will always be 3,

20 LessonS « Math s Findng Patterns




On My Own - "&L’! }@ Learn

Name How do we do math?

How are thess squstionis eeleted? K When we do math. we solve problems.

70490=? 704190=7? 704290=? 70+4530=7? +  We make sense of prablems.

50+90=7 50+290=7 50+490=7 50+690=7 «  We understand relationships among What can | do when
quantities 1 feel stuck?

What other equations can you write that follow the same pattern?

«  We kok for patterns and use patterns

Sample answer: Adding 90 gives a sum 10 less than 10 help us solve problems.

adding 100, 50 70 + 90 =70 + 100 — 10 or 160. +  We use tools. We select the tool that works best for us.

«  We don't quit. if we get stuck, we look for different ways.

K When we do math, we often work together.

»  We listen carefully.

«  We share our thinking What can | do to be

+  We are respectful of others' Ideas. an active listener?
@ Refiect v

«  We critigue the ideas of others, We dont
criticize others

What other patterns and relationships do you know in math?
Tell how those pattermns can help you. «  We share tools and take turns.

Answers may vary.

| K When we do math, sometimes we work on our own.

+  We stay focused.

'« We look for help when we are stuck. What can | do to stay
focused on my work?

24 Lesson® » Math ls Qurs




BT (S

() Work Together On My Own '

How do we work together well? \"" Name
Answers may vary. What are bwo promises our class can make
50 that we work together well?
Answers may vary. ‘
What does a good listener do?
ANSWers may vary.
How do we use tools responsibly?
Answers may vary.
@ Reflect
‘What are my responsibilities to make sure we can all learn
math well?
Answers may vary.
What da | do when I'm stuck?
Answers may vary.
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= — Review =

Unit Review name What should be our classroom norms for doing math? Write up to 5 norms.
Review 1. Answers may vary.
1. What are some ways we can moke sense of a problem?
Answers may vary. 2
3.
2. Why is asking questions impartant when doing math? 4.

Answers may vary.

3. What does It mean to be precise when doing mathematics?

Answers may vary. 0 Reflect

Choose one norm you wrote and tell why it Is important. \
Answers may vary.

4, How can patterns help us solve problems?
Think of an example.

Answers may vary.

Unitt « Memnis. 27



Unit 1
Fluency Practice
Name
Fluency Strategy
You can count on to add. You can count backwards to subtract.
When you add or subtract O, the number does not change,
1340=13 26~-0=26
When you add 1 or 2, you count forwards 1 by 1 or 2.
38+1=39 38,39,
80+2=82 80,81,82,..
When you subtract 1 or 2, you count backwards 1or 2.
52-1=51 52, 51,...
W-2=9 93,92, 9.
Fluency Flash
How can you represent the number line with an equation?
1 S
L 3 1 L 2 ' L I( ‘;( \l '
L 2 Ll L L Li Ll Ll Ll L] L) ' =
40 41 42 43 44 45 46 47 48 49 50
47+2=49
- 5

90 91 92 93 04 95 96 97 98 99100
96-1=95

Unit? - Math s

Fluency Check
How can you find the sum or difference?

464+1=__ 47 = |10.2842=__ 30
4. 57+0= 57 . 5-2m 48
B 15+2= 18 12.79+ 2= 81
6 24-2= 22 13.72-1= i |
7.67-2=_____65  |we-0= 8
B 39-1= 38 15. 78 -0 = 78
8 N40m 21 16. B9 + 1m a0
Fluency Talk

Ben says that adding 2 is like adding 1and then adding 1 again.
15 b arrect? Explain your answer,

Yes. Sample answer: When you count on 2, you
count on 1 and then 1 again.

The answer to Madelzine's problem is the same as the number
she started with, How could this be true? Explain your answer,

Sample answer: She could have either added or
subtracted 0.




IGNITE! e

Name
Penny Estimation

Listen to your teacher. Estimate the number of pennies that will fit in
each rectangle.

A B

32 Ignite! « Penmy Estimation

Learn

What are some ways to represent
this number?

You can use a placewvalue  You can use base-ten blocks.
chan

ooaal | ] ¥

2 cubes flat  3rods 8units
2,000 100 30 B

You can read and write the number in differant forms.
standard form 2138
expanded form 2000 +100+30+ 8

word form two thousand, one hundred thirty-eight
Generalizations
4-digit numbers have thousands, | How is representing 4-digit
hundreds, tens, and ones, numbers the same as representing
3-digit numbers?
@ work Together

How can you represent 1,208 in expanded form and word form?

1,000 + 200 + 8
one thousand, two hundred eight



On My Own .

Name

Gryplic)

What number is represented by the base-ten blocks?

9P @ m.
]

How can you represent the number in the place-value chart and
in expanded form?

3. 2446 4. 4729
2 | & ’ 4 | 6 i | 4 | 7|3 ‘ 9 |
2,000 +400+ 40 +6 4,000 + 700 + 20 + 9

How can you represent the number shown in standard form and
expanded form?

5. three thousand, one hundred twelve

32 3,000 +100 4+ 10+ 2
6. six thousand, eighty-seven
6,087 6,000 +80+7
7. seven thousand, two hundred twenty-four
7.224 7.000 + 200 + 20 + 4
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How can you represent the number shown in standard form
and expanded form?

'®
i w -

1,553 1,000 + 500 + 50 + 3

How can you represent the number in standard form?
9, 8,000 + 500 + 2 10. 9000 + 50+ 2

8,502 9,052

1. STEM Connection 1,455 customers visited
Saffron’s pastry shop this month, Last month
1.355 customers came to the shop. Explain how
she can use place value to determine the
difference in the number of customers.,

Sample answer: There were 100 more
customers this month because the digit
in the hundreds place increased by 1.

12. Extend Your Thinking Use the digits shown to write
a number with the least possible value. Write the number
in standard form, expanded form, and word form.

3 8 8 2
2,388 20004+ 300+80+8

‘two thousand, three hundred eighty-eight

@ Reflect

How does place value help you wrlte
a number in word form?

What feelings did you
experience about
learning math?

Answers may vary.




Learn
About how many blocks are there?
You can round 1o describe about how many,

When you round to the nearest 10 or 100, you determine
a ten or a hundred that is close to the original number,

¥ One Way Use a number line to round,
Round to the nearest 10

127 is to the right of the halfway : s o :
point. It rounds to 130, 120 125 27 0

Round to the nearest 100.
127 Is to the left of the halfway

On My Own . @lQ

Name

Use a number line to round.

1. Round 27 to the nearest 10. 2. Round 896 to the nearest 10,
900

20 Fe 0 00 900

Use place value to round,

3. Round 48 to the nearest 10. 4, Round 273 to the nearest 10,

point, It rounds to 100, 100 ur "0 200

¥ Another Way Use place value to round.
Round to the nearest 10, 127 | Roundto the nearest 100. 127

If the digit in the ones place l If the digit in the tens place l
is 5 or greater, round up. 130 | is less than 5, round down. 100

You can round to make a number easier
to work with when an exact number is
not needed.

Why is & number line helpful
for rounding?

@ Work Together

Ellie rounds 255 to 260, Carter rounds 255 to 300,
Why are their rounded numbers different?

Sample answer: Ellie rounded 255 to the nearest
ten. Carter rounded 255 to the nearest hundred.

Use a number line to round. Show your work.

5. Round 436 to the nearest 100. 6. Round 672 to the nearest 100.

See students’ See students’

drawings. drawings.

436 rounded to the nearest 100 672 rounded to the nearest 100
is__400 . is__700

7. How can the number 78 round to 80 and 1007 Explain.
Sample answer: 78 rounded to the nearest 10 is
80 and 78 rounded to the nearest 100 is 100.

8. Anumber rounded to the nearest 10 is 240. What number
could it be? _Sample answer: 235
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9. How can you use the number line to show why 678 rounded
to the nearest 100 is 7007 Explain your reasoning.

£00 2 &% 700
Sample answer: 678 rounds to 700 because it is
to the right of the halfway point.

10. Error Analysis Tess says that 315 rounded to the nearest 10
15 310. Do you agree? Explain your reasoning.

No; Sample answer: If the number in the ones
place is 5 or greater, 315 rounds up to the greater
10, which would be 320.

1. Jack is making a frult salad. He puts In 9 strawberries,
25 orange wedges, 19 kiwi shees, 27 blueberries, 16 grapes,
and 21 raspberries. Which frults does he use about 20 of?

kiwi, grapes, and raspberries

12. Extend Your Thinking Sam is shopping. He has $50.
He wants to buy dog food that costs $15, vegetables
that cost $22, and fruits that cost $12. How can Sam
make sure he has enough money?

Sample answer: He can round $15 to $20, $22
to $20, and $12 to $10, and then add them
together. 20 + 20 + 10 = 50, so Sam has enough
money.

Q Reflect

When might you want to round to the nearest 10 instead of
the nearest 1007

Answers may vary.

How did you connect
with your classmates?

Unit 2

Rounding Numbers

Name

LUy

Circle all correct answers for the problem.

1. Suppose you rounded to the
maarest 10 Which numbsers
below would round to 6307
Circle all of them.

@ 632
b. 638
© &7
@ 625
e B23
f. G635
g. 534
h. 529

Explain your choices.
Answers will vary.




Circle oll correct answers for the problem. Learn
2. Suppose you rounded to the Explain your choices. Carter is 122 centimeters tall, The giraffe is
nearest 100. Which numbers Answers will vary. 576 centimeters tall,
below would round to 900¢ About how much taller is the giraffe?
Circle alf of them.
a. 956 You can estimate the difference, An estimate is :
close to the exact answer. \ h
® s .
© 93
¥ One Way Round the numbers = Another Way Use compatible
d. 839 1o estimate the difference. numbers to find the difference.
e. 962 576 —122 =2 Compatible numbers are easy to
f 819 waork with.
9. 988 580 — 120 = 460 576 — 122 =7
® L 676 —122 =7 575 <125 = 450
600 — 100 = 500
How can estimating a sum
or difference help to detect
possible errors?
You can use rounding or compatible numbers to estimate an
answer when you do not need an exact sum or difference.
@ Work Together
our Lea An elephant eats 428 pounds of food on Thursday and
Reflect On ¥ .y 503 pounds of food on Friday. About how many pounds
| am I'm still s itend | can teach of food does the elephant eat in the twe days?
: understand.
confused. learning. someone else. N Sample answer: about 930 pounds;
C 7\ 7\ O 428 — 430, 503 — 500; 430 + 500 =930
N N
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How can you use compatible numbers to find about how

‘ @ I@ 9. The Comic Book Shack displays 318 comic books near the
On My Own front door and keeps 502 comic books in the storage room.
Name

What is a reasonable estimate of the sum or difference?
Write or draw to show your thinking.

1

2. 7=695-205
Sample answer:
695 — 700; 205 — 200;
700 — 200 = 500

4234168 = 7

Sample answer:

423 — 420; 168 — 170;
420 + 170 = 590

3. 7=317+248 4, 473+ 218=7
Sample answer: Sample answer:
317 — 320; 248 — 250; 473 — 500; 218 — 200;
320 + 250 = 570 500 + 200 = 700
5 798-307=7 6. ?7=2835— 466
Sample answer: Sample answer:
798 — 800; 307 — 300; 835 — 800; 466 — 500;
800 — 300 = 500 800 — 500 = 300
7. How can you use rounding to estimate the sum of
389 + 2237
Sample answer: | can round 389 to 400 and 223
to 200. 400 + 200 = 600,
8. A complete set of baseball cards has 678 cards.

Julio needs 273 more cards to complete his set, How

can you use rounding to find about how many cards

are in Julio's collection?

Sample answer: | can round 678 to 680 and 273
to 270, and then subtract 270 from 680.

Unit 2 » Use Mace Volue to Flueatly Add and Subbract within 1,000 45

many comic books are in the store?

Sample answer: | can change 318 to 320 and
502 to 500 to make a new ten, and then add.

10. STEM Connection Saffron's bakery needs to [}
decorate 355 cupcakes for an event. It has
decorated 223 so far. How can she determine
about how many more cupcakes they need to
decorate?

Sample answer: She can round 355 to
360, 223 to 220, and then subtract, They
need to decorate about 140 more cupcakes.

1. Melinda estimates she traveled 830 miles last Monday and

Tuesday. She traveled 412 miles on Tuesday, About how many
miles could she have traveled on Maonday?

Sample answer: about 420 miles

12, Extend Your Thinking Jason has 744 flyers to deliver, If he
has dellvered 62 flyers at each of his last 2 stops, about how
many flyers does he have left to deliver?

Sample answer: about 620 flyers

@ Reflect

When might you need to estimate a sum or difference in
your life?

Answers may vary.

How have you worked
to understand how
others are feeling?




Learn
At the school carnival, Billy won 27 tickets at

balloon darts, 40 tickets at ring toss, and 53 tickets -
at basketball toss,

How many tickets did he win?
|
| L 222 et el
| ¥ One Way You can group addends in any way and Add 53 and
| the sum will be the same. 4D fwst
27\47 + 40 27+ SVO
80 4 40 =120 27 493 =120

' » Another Way You can switch the crder of the addends
| and the sum will be the same.

27+ 53+ 40=120
40 4+ 27 + 53 =120
Billy won 120 tickets.

Ihe properties of addition can help you be
maore efficient when you add.

How can changing the
Grouping addends or changing the order of the | order of addends
addends can make the problem easier to solve. | make it easier to add?

1. 2184325=325+__ 218

. 5294 407=__ 407 _+529

On My Own - @ '@

How can you make the equation true?

2 465+ T8 =78+ 465

4. S05 +93=93+505

@ Work Together

Josh is completing the equation 797 + M= + 797 Josh
adds 797 4+ 111 and subtracts 797 to complete the equation.
How can Josh complete the equation more efficiently?
Sample answer: The order of the addends does not
change the sum. The sum will be the same on both sides
of the equation. So, 797 + 111 is equal to 111 + 797.

N

. Mauricio had a sale. The table shows the number of items he

sold each day. Which expressions show how to find the total
number of items Mauwricio sold? Choose all that apply.

® arersss

© 58+42+67 s &7
D. 58 + 67 + 24 Wednesday e

. How can you group the addends to make it easler find the

sum? Explain your thinking,

372 + 264 + 228
Sample answer: | can add 372 + 228 = 600
because | can make a hundred. Adding to a

hundred makes the problem easier to solve. Then
| would add 600 + 264.

Unit 2 » Use Mace Volue to Huently Add and Subbract within 1,000 49



How can you show one way to group the addends and solve?

7. 157 + 17 + 783 8, 198 + 502 + 155
Sample answer: Sample answer:
783 + 17 = 800, 198 + 502 = 700,
800 + 157 = 957 700 + 155 = 855

9. 1354+ 458 + 42 10. 235 + 105 + 3177
Sample answer: Sample answer:
458 + 42 = 500, 235 + 105 = 340,
500 + 135 = 635 340 + 317 = 657

11. STEM Connection Saffron needs to order the items listed,
How can she group these numbers to find her total cost?
Sample answer:
358 + 142 = 500, flour 4367
500 + 367 = 867; $867 bores 4358
cupcake liners 4142
12, Extend Your Thinking Mrs. Ruiz Is checking her receipt
The three items cost $205, $350, and $195. How can she
use properties of addition to add maore efficiently?
Sample answer: She can first change the order of
the addends to add 305 + 195 + 350. Then she
can group 305 and 195 to make a hundred.
305 + 195 = 500; 500 + 350 = 850

@ Reflect

How can changing the order of three addends help you add
more efficiently?

Answers may vary.

How did you avoid getting
distracted?

Learn

Mena notices that when she adds an even
number and an odd number, the sum is odd,

_ | T+13=85
How can she determine if the sumof aneven 18 14l=59
number and an odd number is always odd? —+ 20425=55

When you add even numbers and odd numbers.
there are patterns in the sums

When you add two even numbers, | When you add two odd

the sum Is even, numbers, the sum Is even,
246 + 100 = 346 547 4+ 155 =702
432 + 224 =656 325 + 631= 956
318 + 480 = 798 a1 +273=0694

When you add an even number and

an odd number, the sum is odd.
272 4+ 723 =995 Why s it true that the sum
S46 + 2N =777 of two odd numbers is

| 647+ 244 = 891 oiways even?

You can use addition patterns to help you determine a sum, or to
check your work, when you add 3-digit numbers.

(@ Work Together

Nisha writes 135 4 232 = 167. She says her sum Is correct
because an odd number added o an even number equals an
odd sum. Do you agree with her reasoning? Explan,

No; Sample answer: For this equation, Nisha's
reasoning is not correct because the sum
is less than one of the addends.




On My Own -

Name

What makes the equation true? Write even or odd. Then write
two equations with 3-digit numbers to support your answer.

1 even = even + even

Sample answer:
102 + 304 = 406;
312+ 442 =754

3. odd+_odd =gven

Sample answer:
671+ 101=772;
463 + 505 = 968

5. even+ _even =aven

Sample answer:
322 + 444 = 766;
312+ 442 =754

. even+odd=__odd

2. odd +even= oOdd

Sample answer:
225 + 202 = 427,
611+ 214 = 825

Sample answer:
222 + 333 = 555;
104 + 105 = 209

. __even =odd+ odd

Sample answer:
811 + 101 = 912;
499 + 111 =610

11. STEM Connection A baking sheet can hold an i

What is the sum? Use patterns to help justify your answer.

7. 486 +123=_609
Sample answer:
My sum is odd. An
even addend and
an odd addend
equal an odd sum.

8 154 +272=_426

Sample answer:

My sum is even.

An even addend
and an even addend
equal an even sum,
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G——j |@ 9. Why is the sum of a number with a 3 in the ones place and a
m number with a 4 in the ones place always an odd sum?

Sampie answer: An odd addend plus an even
addend equals an odd sum.

10. How can you explain why the digits in the ones place of the

addends determine if the sum will be even or odd?

Sample answer: The digits in the ones place determine
if the addends are odd or even. The sum will be odd

or even depending on the addends.

even of odd number of pastries. If Saffron wanms
an even number of pastries, how can she arrange the
pastries on 2 sheels?

Sample answer: She can put an odd or an
even number of pastries on each sheet.

y S

12. Extend Your Thinking Carol designs scarves. If she uses

112 blue, 113 yellow, and 114 brown stripes on a scarf, will the
scarf have an even or odd number of stripes? Explain how
you know.

odd; Sample answer: Add the digits in the ones
place.2 + 3 + 4 =9 and 9 is odd.

@ Reflect

How can addition patterns help you justify that a sum Is correct?
Answers may vary,

How did you use
strategies to work more

efficiently?




Learn On My Own - C"m] |§Q

Maggie and Tanesha break apart the addends

undreds »ne anes Name
by place value to add 367 + 145. They show [N =
their work in different ways. 3 6 7 4 How can you decompose each addend? What is the sum?
How can each girl show their work 1. 247+564=__ 8N 2. 815
o i 11515 200 + 500 = 700 £ 118
You can decompose, of break apart, the addends by place value 40 + 60 = 100 900
to find partial sums. Then, add the partial sums to find the sum. 7+4=11 50
: = + 13
700 + 100 + 11 =81 963
¥ One Way You can write the I Another Way You can stack
addends in a row. the addends. 3. 729 4 3274+176= 50?“‘
M~y il +148 300 + 100 = 400
300 + 100 = 400 + 145 800 20 4+ 70 =90
60 + 40 = 100 300 + 100 ‘00'\ oy 60 746=13
7465=12 60 + 40 1oo-<:":3 + 17 400 + 90 + 13 = 503
400 + 100 + 12 = 512 7+ * R 77
512
One addition strategy is to find partial sums 5. :Nh-:;e\:-ust‘r(smp:rllal sumts ——2‘6 +_382 =s08
and add them to find the sum. You can write Why 5 thie ki the o'::em;m:owhlchet::owmk 0 200 4 300 = 500
the addends in this strategy in different ways. o coideucis :re' lnE sl s N fie 10+ 80= 90
@WOPI(T it a row or stacked? original equation, é+1=8
\ 500+ 90+ 8 = 508
Ar’s m'*s'{s);'?‘”:‘"' Jun sefe;ogn's ;’;:‘ 300 6. How can you determine which addends are in the original
g’;d “V: “?'SE; el:,m“'“o‘:" m&:m : & 1 equation by looking at the partial products?

You ogF Py e 200 + 200 500 Sample answer: The numbers in the partial sum
Sample answer: No. 500 is a 0+ 120 20 equations represent the parts of the original addends.
partial sum. The partial sums are 9+5 T 14

534

added together to get the sum of 534.

7. Tyrone spent 172 days in school last year. If he attends school
the same number of days next year, how many days will he
spend in school intwo years? 344 days
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How can you find the sums in a different way?

8 475+ 325=800 475 Learn
400 + 300 = 700 + 325 Samir and Jen subtract 353 — 184, Samir decomposes
70 4 20 =90 700 one numbe 1o subtract, Jen decomposes the same
545=10 S0 number in a different way to subtract.
700 + 90 + 10 = 800 + 10
TOO Will Jen find the same difference as Samir?
9 238 2384271 =7
2RIl 200 + 200 = 400
100 30 + 70 =100 .
+ 9 8+1=9 » One Way You can » Another Way You can
“500 400 + 100 + 9 =509 decompose one number decompaose one number in
by place value. a different way.
10. Eleanar’s watch shows her steps before lunch, Then she
took 486 more steps. How many total steps did she take? 353184 =1 353 —~184 =7
953 steps 353 =~ 100 = 253 353 -~ 153 = 200
11. Error Analysis Amal adds 378 4 141. She decomposes 253 —-80=173 200 —-30=170
each number and adds 300 + 100 = 400, She writes 173 — 4 =169 170 -1 =189
= | ?
378 + 141 = 400. How can you explain her mistake? 353 — 184 = 169 353 — 184 = 169

Sample answer: She needs to find the other
partial sums. Then she needs to add the partial

One subtraction strategy is to decompose
sums to find the total sum. one number and then subtract the parts
12. Extend Your Thinking How can you solve 249 + 401 + 276 from the total, You can decompose numbers | "1 IS the difference the
using partial sums? Show your work. Sample answer: in different ways to subtract. same when the number is
200 + 400 + 200 = 800; 40 + 0 + 70 = 110; decomposed differently?
9+ 1+ 6=16; 800 + 110 + 16 = 926
® Reflect Q@ work Together

Hannah subtracts 572 — 378. How can Hannah decompose

Why Is understandi lace value im) ant when using the partial
Y TP o . e one number In two different ways to subtract?

sums strategy 1o add?
Sample answer: 378 could be decomposed into
Answers may vary. 300, 70, 2 and 6; 572 — 300 = 272,
272 — 70 = 202, 202 — 2 = 200, 200 — 6 = 194;
What strengths did you use 378 could also be decomposed into 372 and 6;

today? What can you work on? 572 — 372 = 200, 200 - 6 = 194




On My Own .

Name

How can you decompose the number in 2 ways?

1. 367 2. 876
Sample answer: Sample answer:
300 + 60 + 7; 800 + 70 + 6;
350+ 10+ 7 800 +70+5+1

How can you decompose one number to subtract? Why did you
choose that way?

3. 495-122 4, 639-370
Sample answer: Sample answer:
100 + 20 + 2; | can 300 + 30 4+ 40; | can
subtract the hundreds, subtract 3 tens from 3 tens,

tens, and ones quickly. then subtract 40 from 300.

How can you find the difference? Show the strategy you used.

5. 284-182=_ 102 6. 219 =333-14
Sample answer: Sample answer:
284 — 100 = 184; 333 — 100 = 233;

184 — 80 = 104; 233 - 10 = 223;
104 -2 =102 223 -3 = 220;
220-1=219

7. 502-382=_120

Sample answer:
502 — 300 = 202;
202 - 2 = 200;
200 - 80 =120

8. 744-456=_278
Sample answer:
744 — 400 = 344;
344 — 44 = 300;
300 — 20 = 280;
280 -2 =278
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Em |Q 9. Error Analysis Juan subtracts 345 — 101, He decomposes

101 into 100 and 10 and subtracts the pants from 345, How can
you help him understand his mistake?

Sample answer: He decomposed 101 incorrectly.
100 + 10 = 110 not 101, He can decompose 101
into 100 + 1 and subtract the parts from 345,

Fun Fair Visitors

10. The table shows the number of
people who attended the school fun

falr each day. Show a strategy 1o find Day Number of
the difference between the greatest People
and least number of people. Thurscay 103
257 - 100 = 157, Friday 168
157 — 3 = 154; 154 people Saturday 257
Sunday 224

11. A baker bakes 268 bread rolls. 155 are cinnamon rolls.
The rest are plain rells. How many plain rolls does she bake?
113 plain rolls

12. Extend Your Thinking Ana subtracts 438 — 342 by
decomposing 342, She subtracts 2, then 300, and
finally 4C. Can she subtract the parts in any order?
Explain your reasoning.
Yes. Sample answer: The order does not matter
if all parts of 342 are subtracted from 438.

@ Reflect

How do you decide how to decompose
one number to subtract?

Answers may vary.

Mindset

How did creative thinking help
you solve a problem?




On My Own -

Name

How can you adjust the equation to solve?
1 272-99=_173 2. 139+2%6=_355

Sample answer: Sample answer:

273 -100=173 140 + 215 = 355
3. 847-332=_515 4. 398+ 147 =_545

Sample answer: Sample answer:

845 — 330 =515 400 + 145 = 545

5. 491—-226=_ 265
Sample answer:

495 — 230 = 265

6. 129+ 139=_268
Sample answer:
130 + 138 = 268

7. Alex adjusted the equation 109 + 119 =7to N0+ N8B = 7.
Describe how he adjusted the equation, Why do you think he
did it in that way?

Sample answer: Alex took 1 away from 119 and
added that 1to 109 to make 110, which is an
easier number to work with.

8. Show how you can adjust 396 — 226. Use a number line to
show that the new equation has the same difference.
Sample answer: 390 — 220 = 170

170 170

d

' 1
390 396
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:Hm Iﬁg Learn

There are 224 Tigers fans and 212 Hawks fans
at the town feotball game. 109 more Tigers
fans arrive late to the game.

How many more Tigers fans than
Hawks fans are at the game?
Adjust Addition Equations Adjust Subtraction Equations
224 +109 =7 ﬁ-ﬁ-?
223+ 110 =333 331 =210 =121

Subtract or add the same amount
to both numbers.

Subtract from cne addend and
add that amount to the other.

You can adjust numbers to get numbers
that are easier to work with. Adjust

both numbers to keep the sum or How :o:dm 2 :::‘mm
difference the same as the original, SEpey different
s 9 adjusting an addition equation?

@ Work Together

Marco adds 457 + 208. He adjusts 457 to 460 and 208 to 211,
He finds the sum 671, Do you agree with his strategy? Explain.

No. Sample answer: Marco added 3 to both
addends. When you adjust addends, you need to
subtract from one and add that amount to the
other. He should add 3 to 457 and subtract 3 from
208 to add 460 + 205 = 665.




9. You can adjust 236 — 119 different ways. How can you explain
one way you can adjust and why the equation is easier?
Sample answer: 237 - 120 is easier because | can
subtract 120 from 237 in just two parts. | can
complete most of the subtraction mentally.

10. Melissa and Juan are finding 129 + 257 by adjusting, Mefissa
tries solving using 130 + 258 = 388 and Juan solves it using
130 + 256 = 386. Which sum Is correct? Explain.

Sample answer: 386 is correct because Juan
kept the sum the same by adding 1to 129 and
subtracting 1 from 257.

11. STEM Connection Saffron completed 851 orders
of pastries her first year. After her second year, she
completed 926 orders, How many more pastry
arders did she complete in her second year than In
her first year?

Sample answer: 925 — 850 =75

12. Extend Your Thinking Yazmin adds 457 + 251, She
adjusts 251 to 250, but forgets to adjust 457. She adds
457 + 250 = 707. How can she adjust the sum to fix
her mistake? Explain your reasoning,
Sample answer: Because she subtracted 1 from
251, she can add 1to her sum to find the correct
sum for 457 + 251.

@ Reflect

How can adjusting just one number affect the adcition
or subtraction equation?

Answers may vary.

How have you worked as a
team to achieve your goal?

Learn

Adaline and her family are driving 575 miles to
visit her grandmether, They drive 246 miles and
stop for lunch.

How can you find how many miles they
have left to drive?

You can represent the problem with a bar diagram.

——

You can write a subtraction
equation with an unknown

You can write an addition
equation with an unknown

difference addend.
575 — 246 =7 246 + 7 =575
575 — 246 = 329 246 4 329 = 575

Addition and subtraction are related, You
can rewrite a subtraction equaticn as an
addition equation with an unknown addend.

How can using an unknown
addend equation be helpful
when you subtract?

@ Work Together

Deigo wants to use addition to solve the equation

478 — 326 = 7. How can you explain this strategy?
Sample answer: He can rewrite the subtraction
equation as an unknown addend equation
326 + 7 = 478. Then he can count on to find
the difference. 478 — 326 = 152

N




On My Own o ®ETH (S0

Name

How can you write a related addition equation for the
subtraction equation?

1 635=202=? Sample answer: 202 + ? = 635

2. 400 —151=7 Sample answer: 400 =151+ 7

3 825—-134=7 Sample answer: 134 + 7 = 825

4, Error Analysis Jayla knows she can use addition 1o subtract,
She adds 301 + 447 to find the difference of 447 — 301 How
can you help her understand how to use this strategy?
Sample answer: Jayla needs to rewrite her
equation as 301 + ? = 447 instead of adding the
two numbers in the subtraction problem.

5. On Monday, 549 people visited the aquarium. On Friday,
823 people visited the aquarium, How many more people
visited the aquarium on Friday?

a. How can you fill in the bar diagram to
represent the problem?

—E—

b. How can you write an equation with an unknown to
represent the bar diagram?

Sample answer: 549 + 7 = 823

Unit2 « Use Mace Value %0 Flueoty Add and Subract within 1000 69

How can you use the relationship between addition and

subtraction to find the difference?
6. 480 -318=_ 162 7 121 =300-179
8. 705—-239=_466 9. 212-135=__77

10. Evan and Kyle put together a 500-piece puzzle, Evan placed
247 pieces,. How many piaces did Kyle place?
253 pieces

11. STEM Connection Saffron's Bake Shop can
spend $700 to buy a large and a small mixer.
She spends $471 on the large mixer. How much
does she have left to spend on a small mixer?
$289

12. Extend Your Thinking Kwan says that he can
solve 445 — 7 = 239 by using the equation
445 + 239, Do you agree? Explain why,
Sample answer: No. The sum of 445 + 239 is 684. If
you replaced the unknown with 684, the subtraction
equation would not be true.

@ Reflect

How are addition and subtraction related?
Answers may vary.




Learn

Last year the library's collection of books
grew from 350 to 722 books. This year

How can you decide
169 books were added to the library. which information in
What strategies can you use to find the the problem is useful?

total number of books in the library?

Partial Sums You can decompose each addend by place value
and add the place values to find partial sums. Then add the
partial sums 10 find the tetal,

7224 169=? 722
+169

700 + 100 = 800 700 + 100 800
20+ 60 =80 20 + 60 80
2+9=1 249 +£ .1

800 4+ 80 + 11 =891 89

Adjust Addends You can adjust the 722+169 =7
addends to numbers that are easier
10 work with. Subtract from one addend

and add that amount to the other addend. 721 4 170 = 891

You can use any addition strategy to find the sum, You can decide
which addition strategy is most efficient for you.

@ Work Together

Angel and Danlel find the sum of 348 4 227. Angel ad|usts the
addends. Daniel uses partial sums. Can either strategy be used
10 solve? Explain your reasoning,

Yes. Sample answer: You will find the sum 575
using either strategy. You can choose what
strategy works best for you.

On My Own

Name

W ame

How can you solve the equation?

1. 437+ 269=_706 2. 566 =123+ 443

3. 879 =367+512 4. 79+m=_9502

5. Error Analysis Priya is adding 327 + 478. Priya adds 3 to
327 to add 330 + 478. Then she subtracts 3 from the sum.
Do you agree with her strategy? Explain.

Sample answer: Yes. Priya added 3 to one
addend, but did not subtract 3 from the other
addend, so she needs to subtract that same
number from the sum,

6. Sam adds 249 + 281 by writing his addends in a row.
What is another way Sam can show 249 + 2817
Sample answer: 249

+ 281

7. Max’s little brother Henry is 2 years old. There are 365 days in
a year, How many days old is Henry?
730 days old
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How can you solve the equation? Explain your addition strategy.

8. 4584+ 139= 597

Sample answer: | chose
to adjust the addends
because 458 is close to
450, which is easier to
work with.

9. 7194 234= 953

Sample answer: | chose
to find partial sums
because it was easy for
me to add each number
by place value.

10. Mr. Perez needs 650 sheets of construction

paper for his class art project. How many packs
of this construction paper should he buy?

3 packs

1. Tryon School raised $345 at their school fundraiser and $486 at
their bake sale. They used $650 of the money they raised to
buy new playground equipment. How much money

did Tryon School raise?
$831

12. Extend Your Thinking The community center had 113
swimmers in the fall class and 235 swimmers in the winter class.
The summer class had 105 more swimmers than both classes
combined. How many swimmers were in the summer class?

453 swimmers
0 Reflect

How do you decide which addition stretegy to use when

solving a problem?
Answers may vary.

How did you use your skills
or Interests 10 help you with
your work?

Learn

Mateo sokd 543 tickets to the newest action movie Friday night.
He sold 134 fewer tickets on Saturday night than Friday, Then
Sundsy afternoon he sold 248 tickets,

What strategles can you use to find the | How is this problem fike other

number of tickets he sold Saturday? problems you have solved?

Decompose One Number Adjust Numbers

You can decompose one You can adjust the numbers to
number in different ways and numbers that are easier to work
subtract the parts. with. Subtract from or add the
543 — 100 = 443 same amount to both numbers.
443 - 30 =413 543 —134 =7
413 -3 =40
410 —1=409
543 — 134 = 409 549 —140 =409
Related Addition Equation

You can write an addition equation with an unknown addend
to find the difference.

543 —-134=7 134 +7="543
543 — 134 = 409 134 + 409 = 543

You can use any subtraction strategy to find the difference. You
can decide which subtraction strategy Is most efficient for you.

@ Work Together

What strategy might be useful to solve 542 — 1187

Explain your reasoning.

Sample answer: | think decomposing 118 is a useful
strategy. It is easier to subtract a number in parts.




. 934 -874 =

On My Own ‘ @I

Name

How can you solve each equation?
1. 779-363=_416

2. 562-295=_267

60 4 13a-68=_66

. At the airport baggage claim, there are 497 passengers and
632 pieces of luggage. How many more pieces of luggage
are there than passengers?

135 pieces of luggage

. Mark and Heidi are asked to solve 171 — 136, Their work

Is shown. Which strategy would you cheose to solve the
problem?

Mark
n—-1»s=x

Heidi

B&+T=m

Sample answer: | think Heidi's strategy is more
efficient because you can count on by 4, then 30,
and then 1, to find the difference of 35.

. Cadence earned 299 points in her online game. This was
102 points greater than her last score. Marce eamed
414 points. How many more points did Marco earn?

115 points
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Q How can you solve the equation? Explain your subtraction strategy.
8.

400-349= 51
Sample answer: | used

9. 668 —218= 450
Sample answer:

an addition equation | decomposed one

and counted on because number because

349 is close to 340. subtracting the parts
made it easier to solve.

"

On her family road trip, Zahara sees a road
sign showing how many miles they are
from different cities. How much farther is
Fairbanks than Cantwell?

145 miles

Error Analysis Celia says that to subtract 249 — 117 she can
decompese 249 and subtract the parts from 117. Do you

agree? Explain your reasoning. No. Sample answer:

Celia should decompose 117 and subtract the parts
from 249 because 117 is the number being subtracted.

. Extend Your Thinking While playing his favorite board

game, Armando wins 550 points. He decides to use

335 points to buy game spaces, 122 points on a game piece,
and the rest he saves. Does Armando save more than

100 points? Show how you know. No. Sample answer:
550 — 335 — 122 = 93; 93 is less than 100.

@ Reflect

How do you determine if a subtraction
strategy is efficient?

Answers may vary.

How have you worked to
accomplish your goal today?




Learn
Lea earns 235 points playing her favorte dance video game, She
plays the next level and eams 112 more points. Lea needs

475 points to buy a new song for the game.
How many more points does

Lea need to buy a new song?

How can you represent this
problem In different ways?

Step 1 Determine how many
points Lea has eamed.

points Lea needs.
points

total points earned needed

]
Yol an use o letter 10 3
~7 | represent the unknown

475 -347=0b

&
235+ M2=0

475 - 347 = 128
Lea needs 128 more points.

2354 12 =347
Lea has 347 points.

You can represent each step In a two-step problem using
an equation with a letter for the unknown.

@ Work Together

Students collect books to donate to other schools, The first
weeak they collect 348 books. The next week they collect 405
books, They donate 250 bocks to one nearby school. How can
you represent the number of books they have left to donate?

Sample answer: 348 + 405 = ¢; 753 - 250 = d;
753 — 250 = 503; 503 books

Step 2 Determine how many more.

On My Own - @|§Q

Name

How can you write an equation to represent the bar diagram?

Sample answer:
410+ 390 =a

Sample answer:
532 + b = 665

How can you draw a bar diagram to represent the equation?
3. 601—b =239 4. 1004+ a=750
Sample answer: Sample answer:

L » J I ™ |

[ — PESSES q

Represent and solve the problem, Use letters for the unknowns.

5. Sam and Ben take turns driving. They traveled 417 miles in
May and 454 miles in June, If Sam drove 502 of the miles,
how many miles did Ben drive?
369 miles; Sample answer: 417 + 454 = a;
8M=0,87MM—-502=p;369=0b

6. Jaya earned $187 babysitting. She bought a wireless speaker
for $129 and a carrying case for $26, How much money does
she have left?
$32; Sample answer: 187 - 129 =, 58 =f;
58—-26=¢g:32=¢g

7. Judy has 323 beads, Sarah has 142 more beads than Judy.

How many beads do they have together?

788 beads; Sample answer: 323 + 142 = x;

465 =x; 465 + 323 = ;788 =y
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How can you solve for the unknown?

— TT——
8. m =456 - 236 9 867=2354k B
m=_220 632 =« Unit Review name
Vocabulary Review

Choose the correct word to complete each sentence.
10. STEM Connection On Monday, Saffron bakes

324 pastries in the moming and some more in the compatibie number decompose
afterncon. She sells 584 pastries. At the endd of the ¢
estimat, fi
day she has 52 pastries left. How many pastries did i I
she bake in the afternoon? round
She beked 312 pestries. 1. Whenyou decompose addends, you break them apart,
11. Elroy’s Balloon Emporium sefls boxes of balloons. Lesson 27)

There are 100 balloons in a box. In January, they s&ll 3 boxes.
In February, they sell 6 boxes, If they started with 10 bexes,

how many balloons do they have left to sell?
100 balloons 2. Youcan _ estimate  ananswer when you do not need

an exact ansSwer. dessen 2-3)
12. Extend Your Thinking The bar diagram represents a two-
step word problem. Write a two-step word problem that could

represent the bar diagram.
3. Whenyou round a number, you find a number that

[ma] 256 [w03] is C105@ 10 the original NUMBbe, ke 3.2
3 t |
Sample answer: Jenna had 114 stickers, Kya gave her

256 more ﬂi?"e“’ Then Jenna bought 103 stickers. 4. A compatible number is a number that Is close to a
® How many stickers does Jenna have now? number but is easy to work with. pessn 2.3
Reflect

How can you make sense of a two-step problem?
Answers may vary. 5. The representation of 8 number as a sum of the values of
each digit is called expanded form. veee 2y

How do you know that you
made good decisions?

Unit2 « Use Place Valoe 10 Fuenty Add and Subdract within 1000 83




Review
6. Which is the standard form of
three thousand. eight hundred
forty? famon 21

A. 384
B. 3,408
C. 3809

© 3840

7. Circle the choice that correctly
shows rounding to the nearest
10. (Lowsan 2.2y

784 — 785
492 — 500
535 — 530

Complete the following using
properties of addition. | v 24

8. 289+ 6211=621+__ 289

9.78+ 418 +212
=418+ 212+ 78

84 Unit2 + Review

—~—_—

10. Sasha spent 284 minutes
swimming the first week and
247 minutes the second week,
What is an estimate of the total
time Sasha spent swimming?
Explain your reasoning. s 23

Sample answer: | can round
284 to 280 and 247 to 250,
| add 280 + 250 to get the
estimate 530.

Will the sum be even or odd?
Write even or odd. (Lesson 25

11. The sum of two numbers that

are both odd will always be
even

12. The sum of an odd number and
an even number will ahvays be

_odd .

13. Use partial sums to help find
the sum. pesson 26
506 +472=_ 978

. gl

14. Decompose one number to
help find the difference,
esson 2.7)
367—-228=__ 139

15. Gabe is trying to solve
246 + 367 Which equation
shows how he could adjust the
addends to find the sum?
Lesson 20

A 250 +360=7
B. 250 4370 =7
© 250+ 363 =7
D. 250 + 371=7

16. Use the bar diagram to help

you find the missing number.
e 2.9)
: - 4

29+ __ 231 =450
450—- 231 =219

17. Do you think it makes more
sense to decompose both
addends or adjust both
addends to solve 388 + 4727

Explain. osson 2.9
Sample answer: | would

adjust both addends. |
would adjust 388 by adding
2 to make 390 and would
adjust 472 by subtracting

2 to make 470.

@EmP|e8

18. Which of the following
equations can you use 10 solve
this subtraction equation?
Looson 2.1
836-3771=7

®) 377 + 459 =836
B. 459 —377=836
C. 459 - 836 =377
D. 836 4 459 = 377

19. Enrique read 249 pages of his
book In June and 227 pages of
his book in July. The book has
a total of 638 pages and
Enrique wants to know how
many pages he has left
10 read. gecn 212

Which set of equations could
be used to solve the problem?
A 227+ 249 =476
638 — 227 = an
® 299+ 277 =476
638 — 476 = 162
C. 638 — 249 = 389
389 4 227 =616

D. 638 - 227 = an
4N + 249 = 660
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Performance Task

Saffron is helping in a new pastry shop that has been open for
two weeks.

Week Number of Customers
1 324
2 289
3 ?

Part A How many total customers did the pastry shop have in
Weeks 1and 27 324 + 289 = 613 customers

Part B What Is the difference between the number of customers
in Weeks 1and 27 324 — 289 = 35 customers

Part C The pastry shop's goal Is to have 800 customers within
the first 3 weeks. How many customers must visit in Week 3 for
the shop to reach the goal?

324 + 289 = 613 customers, 800 — 613 = 187
customers in Week 3 to meet her goal

Part D If the pastry shop has 847 visitors in the first 3 weeks,
which week would have more customers: Week 1 or Week 37
How many more?

Week 1 would have more customers, 324 to 234,
There were 90 more customers in Week 1.

@ Reflect

How can you use strategies to add and subtract multi-digit
numbers?

Answers may vary.

unit 2 ‘
Fluency Practice
Mame
Fluency Strategy
You can use a 10 to add or subtract.
Make a 10 to add 49 4 22. 40 4+ 21 = 7
49 is 1 away from a ten. T
Subtract 1from 22 and add 1 (o 49,
50 + 2 = T
Use a 10 to subtract 75 — 43, gt Rl
438 3 way Trom a ben. T T
Subtract 3 from 75 and subtract 3 from 40. 75— 4D = 3D
Fluency Flash

How can you represent the number lineg with an eguation?

+81

k3
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Fluency Check

How can you find the sum or difference?

3. 49+ 6= 65 10,58+ 2= 60

4. 75+0= 75 " 89—-23= 66
5.76-42=__ 34 = |121942= 21
6. 58437 = 95 13.52-1= 51
7.87—-2= _ 85 14,54 -31= 23

8 29-1= 28 15,17+ 25= 42
9.61+40= 61  146.49+48= 97
Fluency Talk

How can you explain how to make 10 10 add 28 + 177
Sample answer: Since 17 = 2 4+ 15,
add 28 + 2 = 30, and then 30 + 15 = 45,

How is adjusting to make a 10 different when subtracting
than when adding?

Sample answer: When adding, you add to
one number and subtract from the other.
When subtracting, you add to both numbers
or subtract from both numbers.

N
IGN|TE!

Name

.

Broken Calculators

Part A: Your calculator can only add 2s and 5s,
How can you make numbers less than 100 with
this calculator?

Sample answers: | can make numbers by

adding 2s: 2, 4, 6, and so on. | can make
numbers by adding 5s: 5, 10, 15, and so on.
| can also make numbers by adding 2s and Ss.

Part B: Your calculator can only add 3s and 7s.
What whole numbers less than 12 cannot be made with this calculator?
12,4580

How can you make each of the whole numbers
12 through 16 with this calculater?

Sample answers:3 4+ 343+ 3=12;
74+3+3=137+7=9;
343+3+3+4+3=153+3+3+7=16

What is the quickest way to make 30 with this calculator? Explain,
Sample answer: 3 groups of 10 makes 30 and

347=10.Add3+7+34+7+3+7

Is there a number greater than 11 that cannot be made with this
calculator? Explain,

No. 3 and 7 can be used to make all numbers
greater than 11.

90 ignite! « Srokus Calculatons



Learn

How can you represent the
number of peaches in the three
baskets?

OO0 & e e

Each basket has the same number of peaches.
There are 3 equal groups with 5 objects in each group.
3 equal groups of 5
Ix5=15

You use multiplication 1o represent
equal groups.

Why Is it important to say
equal groups?

Q Work Together

Which show equal groups? Explain how you know,

A 212 ®®®®
@

o |08

Sample answer: A, B,
and C show equal
groups because there is
the same number of
objects in each group.

On My Own -

Name
How many? Fill in the blanks.

D44 "}y

3 equalgroupsof _4

AT (G0

2 equalgroupsof 5

How can you represent the equal groups?

3. 2 equalgroupsof 7 4, 4 equalgroups of 5
Sample answer: A Sample answer: A

drawing of 2 circles with drawing of 4 circles with
7 objects in each circle, S objects in each circle.
How many objects?
5. 4 equal groups of 4 pencils 6. 3 equal groups of 2 mittens
4x4=__ 16 Ix2=_ 6
16 pencils 6 mittens
What equation represents the equal groups?
7 EmgrTm 8. $ )
[ =
- -
- s =
2x3=6 4x2=8

9. STEM Connection Finn has 3 construction sites,
He assigns 8 workers to each site. How many
workers does he assign? Explain how you know. 45

Sample answer: 3 equal groups of
8 equal 24 or 3 x 8 = 24, Finn assigns
24 workers.
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10. Mateo knows 8 equal groups of 4 objects equal 32 objects,
How can he find the total number of objects in 9 equal Learn
groups of 47 Fxplain Greta needs 15 eggs.
He can add 4 to 32 to find the total number of objects in
9 equal groups of 4 because 9 groups of 4 is just one more
groupofd4,. 9 x 4 =36

If she buys this carton of eggs, will she
have enough eggs? How do you know?

The eqgs are in an array. The eggs are in rows, Each row has the
11. Nisha will find the total number of same number of eggs.
markers in the box. She knows there
is the same number of markess in each
section. How can she find the total?
Sample answer: She can count the
number of markers in one section and then

multiply that number by the number of You can use addition, You can use multiplication,

sections in the box.

12. Extend Your Thinking Tess prepares 5 gift bags for her
party. Decide on the equal number of toys that she will place
in @ach bag. How many toys does she need to fill her bags?

Explain how you know. Bt ie=t 23X 6=18
Sample answer: If Tess places 4 toys in each bag, she * 2 S .

needs 20 toys. 5 X 4 = 20 ’f;cn;«slha]
Greta has enough eggs.

3 rows 6 eggs in each row

0 Reflect Arrays have rows of equal groups or columns
How does multiplication represent equal groups? of equal groups, What s another way to
Answers may vary. Arrays represent multiphkcation represent 3 groups of 67

@ Work Together

How can you draw an array that represents 4 equal
groups of 57

Sample answer: an array with 4 rows of 5 objects

What have you done 10 be an
active listener today?

94 Lesson2



On My Own .

Name
How many? Complete the equations.
4

A+a+a=_12

ix4a= 12

Write one addition equation. Write one multiplication equation.

> 9000 “ 90000000

000 LA Rel Tk )

3+3=6 BBLEOIBTOY
3Ix8=24

How can you draw an array to represent the equation?
5 4x4=1% 6. 3x5=15

Sample answer: an Sample answer: an
array with 4 rows array with 3 rows
of 4 objects of 5 objects

Unit3 » Multplcation and Diviscn 97

7. Mauricio planted a garden with 5 rows and 7 plants In each
row. How can you represent the total number of plants
In his garden? Choose all that apply

8 5+5+5+5+5
D.7x7

®7+7+7+7+7
@ 5x7

8. Hyun has a canton of @ggs. There are 2 rows of eggs with
6 eggs in each row.

a. Draw an array to represent the problem.
Students should draw an array with 2 rows of 6 object:
b. Write an equation to represent the problem.
2X6=1Ror6+6=12
c. How many eggs does Hyun have?
_ 12 eggs

9. Error Analysis Frankie says she can
add 3 4 5 to find the total number of ice
cubes in the tray. Do you agree? Explain.
Sample answer: No. She needs to
multiply 3 x 5 to find the total.

10. Extend Your Thinking Mrs. Ruiz is placing 18 chairs in equal
rows. What multiplication equations can represent different
arrays she can create with the chairs?

Sample answer: 2 X 9=18and 9 X 2 =18;
3X6=18and6x3=18

@ Reflect

How can arrays represent multiplication?
Answers may vary.

What mativated you to do
your best work today?




Unit 3
Ways to Show 6 X 3

Name _

Decide if the example shows a way to think about 3 X 6.
Circle Yes or No.

. 6+6+6
Does this show 3 X 67

@& o

Explain why you chose
Yes or No.

Explanations will vary.

BSITAT |

2. ; Explain why you chose
Yes or No.
Explanations will vary.
P>
Does this show 3 x 67
o @
3. 3,6,9,12,15,18 Explain why you chose
Yes or No.

Does this show 6 x 37

@ o

Explanations will vary.

“ 900000
2HBIBE
000000

Does this show 3 X 67

@No

Explain why you chose
Yes or No.

Explanations will vary.

5ok ok ok ok Kk
* Kk ok ok Kk
* Kk ok ok k

Does this show 3 X 67

- @

Explain why you chose
Yes or No,

Explanations will vary.

Reflect On Your Learning
| am I'm still
confused, leaming,

| can teach

| stand,
vrder someone eise.

O O

O O
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Learn
Hector wants 10 make 12 muffins,

Which tray should he use?

This tray has 3 rows.
Each row has 4 cups

This tray has 4 rows.
Each row has 3 cups.

4x3=12

3Ix4=12

Hector can use either tray. The factors and products are the
same. The trays can make the same number of muffins.

You can multiply two factors in any order
and the product stays the same. This is a
property of multiplication.

How are 3 groups of 4 and
4 groups of 3 similar?

@ Work Together

For the bake sale, Tom put 3 muffins each into 7 boxes. Emily
put 7 muffins each into 3 boxes. How can you show that Emily
has the same number of muffins as Tom?

Sample answer: an array with 3 rows of 7 objects
and an array with 7 rows of 3 objects; 3 X 7= 21
and7xX3=21

On My Own .

1.

Name e o
What two multiplication B
equations represent G
these arrays? o0 9000
o9 0000
4x2=8 2X4=8

Sam says that 6 X 2 and 2 X 6 have the same product. Do you agree
with Sam? Explain why or why not.

Sample answer: Yes. 6 groups of 2 and 2 groups

of 6 both equal 12. The order of the factors does

not change the product.

What makes the equation true? Fill in the blank.

3.

5X6=6X 5 4. 9x0= 0 x9

5. Use representations 10 show 6. Use representations 1o show
Z2X3isequalto3 X 2. IX4isequaltod X1,
[«]
Sample answer:
Sample answer: 00 ®
" eoe o ©
o9 090 o009 o

7

STEM Connection Finn's construction
team just finished placing windows in
the building. What two multiplication
equations can represent the total
number of windows in the front of
the building?

4x5=20,5x4=20
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8. How can you explain whether this statement s true or false?

ITXx2=W sod4x2=7 Mrn

This is false. Sample answer: 14 groups of 2 is not 7. Devian, Hugo. Tanith, and Marcy share 20 grapes.
9. How does knowing the 10. Use 3, 30, and 10 to write Can each friend have the same number of grapes?

product of 9 X 6 help you find 2 true multiplication equations

You equally share by placing the same number of grapes on

the product of 6 X 97 wer:
Sample ans : each plate. There are 5 grapes on each plate.

Sample answer: They both 3 x 10 =30

have the same factors,so 10 x 3 =30 6.’ * D & Ox ‘ Ox

the product is the same.
11. Oliver has 3 sheets of stickers with 4 stickers on each sheet. 20 objects shared equally into 4 groups is 5 objects in each group
Sara has 4 sheets of stickers with 3 stickers on each sheet. 20+4=5
Who has more stickers? Explain, il B
Sample answer: They both have the same number [totai number [ number nUmber in
because the order of the factors does not change |of objects | |of groups | | each group
the product. The four friends can have the same number of grapes,
12. Extend Your Thinking Explain how this 000000090 ® \Whenyoushare equally, you Explaining
array represents 9 X 3and 3 X 9. Q0000 ® divide 10 make equal groups. ok th dhk
Sample answer: There are 3 rows of 000000000 50, a5 caua sharing. equation represent 4 friends
9 counters and 9 columns of 3 counters. sharing 20 grapes equally?
© Refiect Q Work Together
How does knowing that the order of the factors does not change Can 5 friends equally share 24 grapes? Explain how you know.
the product help you multiply?

No. Sample answer: Four friends would each get

Answers may vary.
G 5 grapes and one friend would get 4 grapes.

Mindset

How have you shown that you
value the ideas of others?




Draw a representation and write an equation for each situation.
On My Own - METH) |G

9. There are 25 crackers to be shared equally among 5 bowls,

Name Sample answen@@@@@ 25+5=5

How can you complete the equation?

10. STEM Connection |he construction manager equally

1 12+2= 6 2 6+4= a4 divides 24 bundles of lumber amang 6 carpenters.
D8e® Sample answer:
444 @OOOO®
. . 6690

.‘.. 24 +-6=4

How can you draw a representation for the equation?

Sample answers shown. 1. Emma picks 32 peaches. She needs 8 peaches for each

3 18+3=6 4 2N+7=3 batch of jam. If she makes 4 batches, will she have any
i ! . peaches left over? Justify your answer, Sample answer:
ed, 0e e
peY 85 03¢ @ @ @ @ @ @ @ No. Emma can divide 32 peaches equally into 4

batches. Each batch will use 8 peaches and no
peaches will be left over.
§ 2443= 8’\ & B+ i;: 12. Extend Your Thinking Ms. Bain has 3 art tables. She shares
238\ (229 (208 27 markers equally among the tables so each student gets
@ @ L4 @ {:—V 3 markers. r:w m|yany stugems sit at each table? Exptalgn how
you know. 3 students; Sample answer: 27 +3 =9,
How can you write a division equation for the representation? so each table gets 9 markers. If each student at
the table gets 3 markers, then 9 markers can be

7. AAAAA] | shared equally among 3 students; 9 + 3 =3
AAAAY 0 e

How does equal sharing represent division?
Answers may vary.

& 4
@ a] [o @ [o 0] How 3 0u o

12+-3=4 bullding a safe
CECK CK )

dassroom culture?
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Learn
These students will work in groups of 3

‘1llli%il

How many groups of 3 will there be?

You can use counters to represent the students. ! i l

There are 7 groups of 3.

QOO
@@

Division can represent equal grouping.
o ?l +3=Te_

Put the counters in groups of 3.

Division can mean equal sharing or
equal grouping

Haow is division with equal
grouping like division with
equal sharing?

@ Work Together
Only 15 students are in class. Can there be equal groups of
4 students? Draw 10 explain how you know,

No. Sample answer: One group would have only
3 students.

B>

COEIED 2

On My Own .

Name

How can you draw a representation and answer
the question? See students' drawings.

2. 8 balloons
2 balloons for each child
How many children? 4

1. 6dogs
2 dogs at each water bow!
How many water bowis? 3

12 beads
4 beads for each bracelet
How many bracelets? 3

w

10 plates 4.
5 plates on each table
How many tables? 2

Which division equation describes the representation?

5. @ 6.

@|5+3=5

B 5=3+3

C.15+5=5 A 12+4=4

D.12+#5=5 B. 12=3+4
C.12+5=4
@n+3=4

How can you write and solve an equation for the situation?

7. 8 students divided Into
4 groups
8+4=2

8. 10 players divided into
2 teams

1M0+2=5

Unit3 - Mubiphcation sod Division 11



Draw a representation for each box listed in the table below.

Use your representations to complete the table. Learn

Kiko states that she can represent both multiplication
and division with one model

9. The Sun and Shades Company uses 4 different boxes to ship
sunglasses to customers,

Explaining
Sunglasses Rows in Sunglasses How can she create a model with Wi
. can one model répresent
per box eachbox  in each row her counters that shows both " hyl ORI n‘:’;m.n ?
Box A 6 3 2 multiplication and division?
Box8 8 4 2 " One Way Asrays
1 2
:0" g : 6 - 3groupsof2=6 6 dividedby 3= 2
= z : ®e @&
10, The company adds Box E that holds 18 sunglasses, What . ‘ . .
division equation shows the total number of glasses, the . . . .
number of rows, and 2 sunglasses in each row? 18 + 9 = 2 Ix2=6 653 m2
1. Error Analysis James needs to distribute 20 papers. Each
student needs 4 papers. James makes 4 piles and places » Another Way Equal Groups
1 paper in @ach pile until the paper is gone. How can you 2goupsof3=6 Bdivided by 2=3
explain and correct his mistake? Sample answer: James
needs to make groups of 4 until the paper is @ @ @ @
gone. He will make 5 piles of paper.
2x3=6 6+2=3
12. Extend Your Thinking Describe a situation that represents
20 + 5 =4, Sample answer: There are 20 chairs Arrays and equal groups represent both multiphcation and
divided into 5 rows with 4 chairs in each row. division. Multiplication and division are related.
@ Work Together
@ Reflect

How can you draw to represent 5 X 3=158nd 15 + 5= 37
Sample answer: an array with 5 rows of 3 objects

How is division with equal grouping different than division with
equal shanng?

Answers may vary.

Mindset

How did you use your abilities
and skills to be successful today?




On My Own l'

Name

How can you draw an array to represent the situation?

1. 4groupsof2=8 2. 2XB=16
8 divided by 4= 2 6+2=8
an array with 4 rows of an array with 2 rows of
2 objects 8 objects
How can you draw an equal group to represent the situation?
3. 4groupsof 3=12 4. 3IX5=15
12 divided by 4 = 3 15+3=5
a drawing of 4 groups a drawing of 3 groups
with 3 objects in with 5 objects in
each group each group

How can you write a division equation for the representation?

‘38888 Cgssss
BERVIIE

2x5=10 Ix6=18
10+2=5 1B8-3=6

7. Jason says that because he knows 6 X 2 =12, he also
knows a related division equation. Explain why you agree
or disagree. Sample answer: | agree because division
is related to multiplication. 12 + 6 = 2 is related to
6X2=12and2 X 6=12.

®ETD|S9

Unit3 » Mubtipication snd Obesion 115

Write a multiplication and a division equation to represent each
model.

"OOOO® OO
OO,

5x4=20
20+-5=4

T7x3=21
21+-7=3

10. STEM Connection Finn has 245 days to
complete 3 parts of a construction project. He
wants to spend the same number of days on
each part. How can you write a multiplication
and a division equation to represent the
problem? Use a 7 for the unknown,

245 +-3=7,3Xx7=245

11. How can 9 pairs of shoes represent a multiplication and a
division equation? Sample answer: 9 pairs of shoes show
9 equal groups of 2, or 9 x 2 = 18. 18 shoes divided
into 9 groups of 2is 18 + 9 = 2.

12. Extend Your Thinking Mr. Mack gives 3 pencils to each of
his students. He had 24 pencils. How can you use the
multiplication equation 8 X 3 = 24 1o find how many students
he has in class? Sample answer: 8 X 3 = 24 is related
to 24 + 8 = 3 because both equations describe
8 groups of 3,

@ Reflect

How are multiplication and division related?
Answers may vary.

How did organizing your
work help you today?




Learn

Oliver has 24 shirts in his dresser drawers.
There are the same number of shirts in
each drawer.

What questions might you ask?

Group Size Unknown

Oliver has 24 shirts in
4 dresser drawers.

Number of Groups Unknown

Oliver has 24 shirts in dresser
drawers, There are 6 shirts In

How many shirts are in each drawer,

each drawer? How many drawers are filled
. with shirts?

XXXXXX
XXXXXX
4+4=["] XXXXXX

4% :l= 24 24 + D =0

& shirts Cixe=24
4 drawers

You can use equal groups or
arrays to find the unknown,

How can you use representations
to find the unknown In multiplication
oand division problems?

@ Work Together

Ricardo needs 6 pens. Pens are sold in packs of 2. How can
you use a representation and an equation 1o determine how
mary packs Ricardo needsto buy?  Sample answer:

N

OIDID

7TX2=60r6+2=72
3 packs

On My Own -y MATH) |69

Name

Use the representation. What is the unknown?

1 4% B =n - A 3 x7=2
XAXXKXXX

@EEIE) XXX
XXXXXXX

3. Robert has 16 pencils. He puts an equal number of pencils in
2 boxes. How many pencils does he put in each box?

DI

B+2=__8 2x 8 =1

How can you draw a representation to find the unknown?

4 A+2m= 2 5 66X 3 =18
Sample answer: a drawing Sample answer: an
of 2 equal groups of 2 array with 6 rows of 3

6 18+2=__9 7 3 x3=_9
Sample answer: an Sample answer: a drawing
array with 2 rows of 9 of 3 equal groups of 3

8. Lauren and Migue! make 20 paper snov/lakes. If they make
the same number of snowflakes, how many do Lauren and
Miguel each make?
10 snowflakes; Sample answer: a drawing of 2 equal
groups of 10; 2 X 7=20;20+2=72x10 =20
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9. Calvin has 15 books. He places an equal number of beoks on a
bookshelf with 3 shelves. How many books are on each shelf?

5 books; Sample answer: an array with 3 rows of 5;
5+3=7

10. There are 36 photos in a photo book, There are € photos cn
each page. Rodio says she can count the number of 65 it
takes to equal 35 to find the number of pages. Do you agree?
Explain your reasoning. Sample answer: Yes. You can find
the number of groups of 6 in 36 by skip counting or
adding on.

11. Error Analysis Liam and Ava need 1o find the
number to make this equation true. Liam says
itis 16. Ava says it is 4. Who do you agree with?
Oraw a picture to Support your answer,

8sz2x] |

Ava; Sample answer: | can draw 2 groups. There are

4 objects in each group.
@e09) @eed)

12. Extend Your Thinking Charles writes the equation
? + 5= 10. Explain how he might use the known numbers
in the equation to solve for the unknown
Sample answer: The equation represents 5
groups and 10 objects in each group. Or the equation
represents 10 groups and 5 objects in each group.
Charles can use 10 X 5 = 50 to solve.

@ Reflect

How can you find the unknown in a word problem?
Answers may vary.

What helped you make
sense of 8 situation 10day?

Unit Review name

Vocabulary Review

Use the vocabulary to complete each sentence.
division equal groups
factors multiplication
product quotient

NUMDETS. pewes 34

2. When you share objects equally among groups. you use

division 1o determine the number of objects in
each group. iesse 3.4

3. Groups that have the same number of objects are called

equal groups ;... 4y

4. A multiplication equation always has two or more

factors . iescn3

5. The product is the answer to a multiplication

equation. gewss, 3

6. The quotient is the answer to a division equation. (e 3.5
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Review

7. How can you represent these
groups of counters? Lesse sy
Sample answer shown,

2 x_6 = 12

8. How can you complete the

equations? Lewe 33
§x_7 =35
7x_5 =35

9. What number makes the
equation true? Leson 37)

2x7=16
A 7
®s
c.9
D. 10

10. What equation represents the
stars shown? Lessen 32

Sample answer shown.

WRRWRR
WHR W
Wk KRN

3 x5 = 18

122 Unit3 « Revew

—~——

1. Which equation represents this
model? Choose all that apply.

flessom 36

A 4x8=32
(B) 36 +4=9
(€) 4x9=36

D.9+4=36

12. Clara has 20 glue bottles to
place at 5 1ables. She vill place
the same number of bottles on
each table.

Which equation represents
the problem? o esen 34

A 5+4=20
B. 5+20=4
C. 4+5=20

© 0+5=4

v

13. Mason will place 18 pennies
into jars. He will place
9 pennies in each jar.
TSI
TRBEERETE
What equation represents the
problem? peswos 3%
vy = F
Sample answer shown.
14. Sophia will buy 6 tomato plants.
The plants cost $5 each, How
much money does Sophia need
to buy the plants? (esson 39

$ 30

15. Victor has 16 ice cubes. He
wants to place 4 ice cubes in
each glass of water, How many
glasses will he need? Lo 32

® 4
B S
C 6
. 7

Gl

16. Jane has a total of 54 seeds in
6 packets. Each packet has the
same number of seeds.

Which equations represent the
problem? Choose all that apply.

Leamson3dd)

@ sa+6=2
B. 6+54=2
C. 54x6=7

@ sx?=54

17. Loka places cards in 4 rows of 6.
How many cards does she use?

Losson 30

24 cards

18. At recess, 28 students make
4 teams to play a game.
What equation represents
the number of students on
each team? [eson 34

28 +_ 4 = 7
Sample answer shown,
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Unit 4

Unit 3 How Ready Am I?
Fluency Practice Name
Name 1. Which number would come nest in the pattern?
Fl s 12,14, 16,18, 20
uency Strategy A 2 o
You can use partial sums to find a sum. Partial Sums €. 25 D. 30
53
::u :::c"e?,:f::;g?:dum neiiands + 29 2. Melson puts his toy cars In 4 rows. There are 5 cars in each
P ) 50+ 20 70 rawi. Which equation correctly shows the total number of cars?
Add the tens. 349 + 12

@ s+5+5+5=20

Add the ones. a2
Then add the partial sums 53429 =82 B. 44+4+4+4+4+4=24

to find the sum. C.5+5+54+54+5=25

D 4+4+4+4=16
1. How can you use partial sums to find the sum?

;: 3. Which equalion mepresents the armay?
+
—— I3 43 +I34+3+343
40 + 30 70 @ .
8+5 +(13) = PRy
C. 743
D 743+7+13
Fluency Flash
4. Caleb said the following numbers when counting, “40, 50, 60,
What equation represents the base-ten blocks? 70, B0, 90, 1007 Which number would come next?
2 "II 3 I"III: A 0 B. 105 © o D. 120
L
L)
- . 5. What Is the unknown number?
": II: 20,30,40, 60
H H A 10 50 c. €0 D. 70
41+ 27=68 65+ 24 =89
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6. Polly places some oranges Into 3 rows. There are 8 cranges In each
row. Which equation correctly represents the total number of oranges?

A 3+8=1
@8+8+8-24
C.3+8+3+8+3+8=33
D. 3+3+3+3+3+3+3=2

7. In which pattern would the next number be 207 Choose all that apply.

A. 12,13,14.15, 12,14,16,18,

C. 9,12,15,18, (0)0.5.10,15,

8. Mia wrote the equation 4 + 4 + 4 = 12 10 represent the total counters
In an array. Which of the following correctly represents the array?

@ 3 rows of 4 columns
B. 2 rows of 6 columns
C. 4 rows of 2 columns
D. 12 rows of 4 columns
9. Which correctly shows how to skip count by 557
A, 5,10, 20,25, 30..
B. 5,10,15, 25, 35...
C. 5,10,15, 25, 30..
(©)5.10.15.20.25..

10. Which equations could be used to show the relationship among the
numbers in the given fact triangle? Choose all that apply,

®1u-8=6

B. 8- =6 14
C. M4+6=20
©@s+6=1 8 6

$8  Assessment Resowrce Book

Name

Skip Counting into Shapes
Draw line segments to connect the points as you skip count.

a. Count by 2s: b. Count by 3s:
024, .. 0,36, ..
2¢
n ¥ R

f Count by 9s.

g. Count by 5s. h. Countby 7s.

128 ignite! + Skip Counting nto Stapes



On My Own - @I@

Learn Salsa recipe
Melanie will double the salsa recipe. 1 omion Name B e e
How can you determine how much 2 tioves of garlic 1. Byron is making loaves of bread
of each ingredient she needs? 2 wedges of ime He uses 2 cups of flour for each 5 10
4 peppers loaf. Complete the table to show
5 tomatoes how many cups of flour he needs 6 12
for each number of loaves. 7 M4
" One Way You can represent ¥ Another Way Multiply each
each ingredient with counters ingredient by 2. Use a 2. Aryais buying balloons for her two brothers. She wants
and doudle the amount. multiplication fact table o to give them both the same number of balloons. How can you
determine multiples of 2. write an equation to represent the total number of balloons

2 groups of 2 cloves of garlic

I

Arya might buy?
Sample answer: 2 X 9 = 18. If Arya buys both of her
brothers 9 balloons each, she buys 18 balloons in all.

3, Peter is cooking potatoes in a large pet. The recipe calls for
2 minutes of bolling for every pound of potatoes. How many
minutes will it take Peter to cook 8 pounds of potatoes?

16 minutes
There 15 a pattern with multiples of 2. 4. Draw a line to connect the related equations
I1X2=2 2%x2=4 3Xx2=6 4x2=8 65X2=10 2x7=4 T+7=7
== =7
Multiplying by 2 is the same as doubling, e 10%2 i
2x7=14 5+5=7
The multiples of 2 always have a 0, 2, 4, 6, How is multiplying by
or 8 in the ones place, 2 related to doubling?
@Vlork Together How can you complete the equation?
Melanike packs 1yogurt, 7 baby carrots, and 9 grapes. She 8 . 2x9= 98 6. 20 =2x10
packs the same lunch for her brother. How can you find the
number of each item she needs to pack 2 lunches? Multiply each ¥ Ex2= 40 8= & %2
number by 2: 2 yogurts, 14 baby carrots, and 18 grapes.
=6 10.7x2= 14
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Learn On My Own - @w) |@

Ryo puts photos in an album.

He puts 5 phatos on each page. Name

How can you use what you know about multiplication with

How can you determine the number
5 to answer the question?

of photos he uses to fill 3, 4, 5, and
6 pages? 1. What can you say about the products of X5 facts?

Sample answer: Multiples of 5 have 0 or 5 in the ones

} One Way You can use » Another Way You can place. If the other factor is even, the product is even.
an array to represent the multiply each number by 5. If the other factor is odd, the product is odd.
problem. SKip count by 5s to Use a multiplication fact table
find multiples of S. to find the products. 2. Sheila says that knowing 3 X 5 can help you remember 5 X 3.
& R R R , Is she correct? Explain,
EEEEE Sample answer: 3 X 5 and 5 X 3 have the same product,
= 15. Changing the order of the factors does not change
EEEEN : bodctsnn g -
) product.
EEEEN =
EEEREE 3. Marcel is decorating a poster with stickers. He arranges the
stickers Into S rows. Each row has the same number of
EEEEN 3X5=15 4%X5=20 stickers. How many stickers might Marcel have in all?
5,10.15. 20, 25, 30 5x5m=25 6x5=30 Sample answer: Marcel could have 40 stickers if he
6 rows of 5 equal 30 places 8 stickers in each row.
There is a pattern with multiples of 5.
Multiples of 5 have a O of 5 in the ones place, | oW does the array
represent the problem?
How can complete the equation?
Q work Together o =
4.5x9%= 45 5. 35 =5x7
Cho is gving each of her friends 5 trading cards. What do you
know about the total number of cards Cho will give away? 6.6x5= 30 7.25=5x §
Sample answer: The total number of cards will have
8.10x5= 9. 3x5=
a 0 or 5 in the ones place. -5 -5
10. 2 x5=10 ".8x5=_40
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12. Mary Lou does 5 jumping Jacks. If she does the same number
of jumping jacks for 4 days in a row, how many jumping jacks
does Mary Lou do?

20 jumping jacks

13. Sara puts the same number
of fish shown In each of 5 tanks.
How many fish does she have?

35 fish

14. Which equations are true? Choose all that apply.

A 5x3=3+3+3 (B) 3x5=5+5+5
C. 5x2=5+2 (D)5xa=4+4+a+4+4

15. Extend Your Thinking Lee has 32 books. He says he can
make 5 stacks of books with the same number of books in
each stack. Is he correct? Explain. No. Sample answer:
Since 32 does not have a O or a 5 in the ones place,

it cannot be a multiple of 5.

@ Reflect

What patterns can you use to recall multiplication facts with 57
Explain.
Answers may vary.

What steps did you take to
focus on your work today?

|

Unit 4 mﬁ

Multiplyby2and 5
Name
Consider the equation 2 X 7 = 14.
1. Circle oll drawings that show | Explain or show your thinking.
2 groups of 7. Explanations may vary.

“ad
‘4444
444

©Oeczocooog
0000009

« OB RBBE
e




Consider the equation 5 X 2 = 10, Learn
2. Circle all drawings that show Explain or show your thinking. Joon has a collection of dimes.
5 groups of 2. Explanations may vary. How can you find the value of Joon’s dimes?

a,
L b &
ﬁ ﬁ ﬁ ﬁ ﬁ » One Way You can skip count by 10s to find the value in cents of

different numbers of dimes.

2000000003

10 20 30 40 50 60 70 80 90 100

¥ Another Way Multiply 10 by
the number of dimes. Use

a multiplication fact table

to find the product.

1x10=10 6 %10 =60
2%x10=20 7x10=70
3IxX10=30 8 x10=80
4x10=40 9%x10=90
5x10=50 10x10=100

AEONEDERE

8l o|e|e]ale|ale]a]e]e

|

(@] o] <[alw]ale]v]=]2
#lule|u]a|n]ole]|alw]e

When you multiply 10 by a digit, the product
has the same digit in the tens ploce and
a 0 in the ones place.

How can you use the
multiplication fact table
- Q@ Work Together to skip count by 10?

Reflect On Your Learning Cormell says he knows the product of B X 10 is 80 without skip g

I'm I'm still liaiisaih counting or multiplying. What pattern might have helped Cornell
o ; | understand. find the product? Sample answer: When you multiply 10 by a
used, learning. someone efse.
digit, the product has the same digit in the tens place and
O C C O a 0 in the ones place. 80 has 8 in the tens place and 0 in
the ones place.

OF  Math Probe « Mokl by 2 s £



B 4

On My Own

Name _

How can you use what you know about multiplication with 10
to answer the question?

1. What do you know about products of multiplication facts
with a factor ¢f 107 Sample answer: Multiples of 10 have a
0 in the ones place.

2. Paolo has a pile of dimes. Can the value ¢f the dimes be 58¢7
Expiain. No. Sample answer: Since dimes are worth 10¢,
the value must have a 0 in the ones place.

3. STEM Connection Grace needs to write 10 lines
of code for her character to complete one action.
How many lines of code does she need to write
for her character to complete 7 actions?

70 lines of code

4. Janelle is arranging her rock collection, She
arranges the rocks into rows as shown. She has fewer than
11 rows. How many rocks might Janelle have in all?

Dad@@®adh @O Sample answer: 70

rocks; If she has 7 rows, she would have 7 rows of 10.

How can you complete the equation?

5 5x10=_50 6.10x 7 =70

7. 60 =6x10 8 20 =10x2

9. 9 x10=9 10.8x10=_80

[ Unitd - Use Patterns to Muliply by 0,1, 2.5, and ¥) 941

@'——j |@ M. There are 3 logs in the pond. There are 10 frogs on each log,
m How many frogs are there?

30 frogs
12. Larry walks 5 miles In 3 week. He walks the same number of

miles for 10 weeks, How many miles does Larry walk?
50 miles

13. Which equations are true? Circle all that are correct.
®sxs=ax1w0 B 3x5=3x10
C. 10+10=10 x 10 @ 10+10=2x1

14. Extend Your Thinking How does knowing 5 X 4 help you
remember 10 X 47
Sample answer: | can double the product in a
X5 equation to find the product in a X10 equation.
5 X 4 = 20, and | can double 20 to find 10 X 4 = 40,

@ Refiect

What patterns can you use to recall multiplication facts with 10?
Explain.

Answers may vary.

How were you fiexible in
your thinking to help you
make good decisions?




Learn
Quinn has two pencil cases. In each case is
one pencil.

How many pencils are in the two pencil cases?

Multiply to find the number of Multiply te find the number of
pencils in two pencil cases. pencils in two pencil cases.

2 cases each with 1 pencil 2 cases each with O pencils

2%X1=2 2x0=0
2 pencils 0 pencils
There are pattems with multiples of 1and 0.
3IX1=3 4xt1 =4 5EXx1=5 6Xx1=6
3x0=0 4x0=0 5x0=0 6Ex0=0

Any number multiphed by 1 equals itsel.
Any number multiplied by 0 equals O

Explaining
How is 2 X 1 related
1o1x2?

@ Work Together

There are 3 blue eqggs, 2 white eggs, 1spotted egg, and 0 brown
eggs in each nest. How many of each type of egg are in 4 nests?
Sample answer: There are 3 X 4 = 12, 12 blue eggs;
2 X 4 = 8, 8 white eggs; 1 X 4 = 4, 4 spotted eggs;

0 x 4 =0, 0 brown eggs.

On My Own -

Name e ——— —

How can you complete the equation?

1L7X1= ; 4 2 0= 0 x1
34x_0 =0 4, 1 x1=1
5.0x6=_0 6. 8=1x 8

7. Keily and Yusif want to share a box of crackers. They open
the box and share all of the crackers in the box, They each
get 0 crackers. How many crackers were in the bax?

O crackers

8. Eli checks out some books from the library. He roads 1 book
per day. How many days will it take Ell to read all his books?
Sample answer: If Eli checks out 8 books and reads
1 book per day, it will take him 8 days to read all 8 books.

9. Carter starts playing a new game. He completes 0 levels per
cay for a week. How many levels wili Carter complete by the
end of the week? Sample answer: 0 levels per day x
7 days = 0 levels. Carter completes O levels in a week.

10. Mr. Mustafa buys 1 jersey for each player on his daughter's
team, There are @ players. How can you write an equation to
find the number of jerseys he buys?

Sample answer: 9 X 1=9; 9 jerseys

1. There are 3 bins. Each bin has 1 book. How can you write an
equation to show the number of books there are?

Sample answer: 3 X 1= 3; 3 books

Unit4 « Use Patterns 1o Maltiply by 0,1, 2, 5, and 0 ™S



12. Which equations are true? Circle all that are correct.

A 6X0=6 @ sx1=2x4 Learn
Zion fllis each of 4 gift bags with 10 stickers, 2 cars,
@ O0x3=9x0 D. 1xX10=5x1 5 sticky hands, and 1 bottle of bubbles. He puts

0 stamps in the gift bags.

How can he use patterns to determine the
number of each type of toy he needs?

13. Error Analysis Elyah says that multiplying
4 by Ois like adding 0 to 4. His work is shown.

Do you agree? Explain. ‘ 41024 = = o
hen you multiply a digit by 10, the
No. ?a'"p'e SRS wmn‘m ; product has the same digit in the tens How are muitiplying with 2
multiply by O, the product is always 0. ' place and a O in the ones place. and multiplying with 10 the
4 x10=40 40 stickers same? How are they different?
4. Extend Your Thinking Does the equation1 X 0 = ? Muttiples of 2 have a 0, 2, 4, 6, The product of any number
follow the pattern of multiples of O, multiples of 1, or both? or 8 in the ones place. and Ois 0.
NS YIS ISt A4x2=8 8cars 4x0=0 Ostam
= =
Sample answer: Both; 1 X 0 = 0; The product of 0 "
e ST OOO® 0000
factor is the other factor, which is 0 in this
equation. Multiples of Shave a Dor Sinthe = The product of any number
ones place, and 1is itself,
AX5=20 20 sticky hands 4x1=4 4 bottles of bubbles
Q Reflect ¥

What patterns can you use to recall multiplication facts with @@@@ @@@@

1and 0? Explain, :
You can use patterns to help recall facts with factors 0,1, 2, 5, and 10,

Answers may vary.

@ Work Together

Dina arranges her stickers into 10 equai rows. Each row has
fewer than 7 stickers. How many stickers might Dina have In all?
How did a different Sample answer: Dina might have 0, 10, 20, 30, 40, 50,

perspective help you with or 60 stickers.
your work today?




‘ @ ) 13. Marcel Is placing cards In an array, He places the cards into
On My Own m I some rows of 5. How many cards might Marcel have in all?
Sample answer: Marcel might have 40 cards

Name

if he has 8 rows of 5.
How can you use what you know about multiplication to answer
the question?
1. Multiplesof 2 and 10 2. Muttiples of 10 always have 14. Error Analysis Kayla thinks of a number, She tells her friend
are always even, a 0 in the ones place. itis an odd number, a product of 5, and a product of 10, Her
fnend says that Isn't possible. Who is comrect? Explain.
3. The product of any number and 4, The product of any number Sample answer: Her friend is correct. All products
1 s itself. and O IsalwaysO. of 10 are even numbers.
15. Extend Your Thinking Setsuko spiils her drink on A =20 “
How can you complete the equation? her homework and can only see the answers, What 5 gg @
multiplication facts could she have been practicing? = 50 |
5.5x3= _ﬁ 6-2X7=>14;> Explain. > J

Sample answer: She could have been practicing
her 2s, 5s, and/or 10s facts. The products match the

7 0 x8=0 8. 40 =10x4
patterns for all 3 factors.
9. 30 =5x6 10.9%x 1 =9
@ Reflect
11, Felix has fewer than 10 nickels in his piggy bank. How many How can you describe the patterns when multiplying by
cents might he have? Explain how you know. Sample answer: 0,12, 5 0r10?
Felix could have up to 9 nickels, so he could have Answers may vary.
5, 10, 15, 20, 25, 30, 35, 40, or 45 cents.
12. The Lee family buys pairs of mittens for their vacation. Can the How have you helped to
Lee family buy 17 mittens in ali? Explain, No. Sample answer: build a relstionship with a
The total number of mittens must be even. 2 mittens classmate today?

are in a pair, and multiples of 2 are even.
‘ Unitd « Use Pattems to Miltiphy by 0,1, 2,5, and 0 M9




Learn

There are 20 chitdren in 5 equal groups on the sky ride.

How many children are in each group?

¥ One Way Use multiplication to represent the problem

On My Own ‘ @'gﬁ

Name

How can you write a multiplication and division equation for the
problem? Write a ? for the unknown.

5 % 7 m 20 1. Eight friends share 40 apple 2. Bobbie, Wendy, and Winston
2 slices. If each friend receives the spent a total of $21to go to the
same amount of apple slices, how movies. If it cost each person
many does @ach person receive? the same amount, how much
5x4=20 8X?7=40and40+8=7 did each person spend?
3IX?7=21and21+-3 =7
¥ Another Way Use division to represent the problem. 3. Jermaine ran 56 minutes 4, June eams $25 for working
20+5=7 over seven days. If he ran the five hours. If she earns the
same amount of time each day, same amount each hour,
®®®®® how many minutes did he run how much does she get paid
each day? per hour?
20+5=4

7X?2=56and56+-7=7 SX?7=25and25+5=7

There are 4 children in each group. How can you draw a representation for the set of equations?

Patterns
You can use a multiplication equation  I'yo cun v use multiplication | 5. 6x 7 =18 6. BX7m24
or a division equation to represent and patterns to check that 816=2 24+8=7

scive problems involving equal groups. solution 1€ comect?

@ Work Together

Ten more children join the group. How can you find the number
of children in each of the five carts on the sky ride if there are
the same number of children in each carnt?

QO
OO

7 9x?7=36 8 3x7=21
36+9=7

N+3=7
EEEE:

OO
LOOOO

Sample answer: 20+ 10 =30;30 +5=7;
Use counters to make 5 equal groups of 6.
There are 6 children in each cart.
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9. Sam bought tickets to the county fair. How much did each
ticket cost if each costs the same amount? $6

10. Carlos spends 35 minutes on homework, He spends the
same amount of time on each of his S assignments.
How long does he spend on each assignment? 7 minutes

11. STEM Connection It takes Grace 24 hours to
write o computer program for 4 robots, If each
program takes the same amount of time to write,
how long does it take Grace to write one program?
Explain,

6 hours; Sample answer: 24 hours
divided into 4 equal groups is 6 hours in
eachgroup.24 ~4=6

12. Extend Your Thinking Describe a situation that could be
represented by the equations 4 X ?=12and 12 + 4 = 7,
Then solve,
Sample answer: There are 12 seats on the roller
coaster. There are 4 rows of the same number of
seats. How many seats are ineachrow? 4 X 3 =12
and12 +-4=3

@ Reflect

How can you solve word problems involving equal groups?
Answers may vary.

How was it useful 1o
consider different possible
solutions 1o s prablem?

Unit Review name

Vocabulary Review
Choose the correct word to complete each sentence.

product pattern
multiplication fact table unknown
skip count equal groups

Groups that have the same number of objects are referred to
as equal groups

+ Dwsacn 4-6)

A _multiplication fact table s a tool that shows you
the products for pairs of numbers, nesson 41

The _ _product
multiplication equation. (esse &1

is the answerto a

You can find a pattern by looking for
a rule that relates numbers to each other. jsssen <2

When you solve an equation, you find the value of the

unkmﬂ + lLosson 440
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Review
6. Write true or false.
When a whole number is
multiplied by 10, the product
will always have a O in the ones
place. resscn 49

true

7. David uses pennies to
make an array with 2 rows
and S columns. How many
pennies does David use to
make his array? peson «4

A5

@

D. 25

8. Aya has 2 equal groups of
tokens. There are 16 tokens in
all. How many tokens are in
each group? emsen 4.0

AT

®s=

C.9
D. 16

155 Usitd - Review

—~—_—

9. Each book at the book falr was
on sale for $5. Dvora
bought 9 beoks. How much
did she spend on books at
the book fair? pewm &2

A. $30
B. $35
C. $40

©) $45

10. Jake collects 10 trading cards
each week. If he collects 10
cards for 6 weeks, how many
cards will Jake collect? peson 42
The equation 6 x10=7
can be used to show that Jake
will collect 60 cards,

11, Archer spends $35 on
computer games. Each game
costs $5. How many computer
games does Archer buy?
Lessor &0
Archerbuys 7  computer
games,

. il

12. John found 4 dimes, How much
money does John have?
fosson &3

A, 14¢
B. 20¢

©) 40e
D. 4¢

13. Greg read 60 books during the
past 10 months. If he read the
same number of books every
month, how many books did
Greg read each month?

Levwon 45

A S
®s

c. 50
D. 600

14. Lydia s buying packs of
books for 6 cousins. Each
pack has several books and
Lydia buys each cousin 1 pack.
How many packs of books
does Lydia buy? neson 44

A
B. 7

o

®ETY |9

15. Kyndall places 28 pieces
of construction paper into
1 basket. How many pieces
of construction paper are in
each basket? resmon ¢4

A W
@ =
(W
D 4

16. Travis ts on & road tnp
and drives 60 miles in one
hour, How far can Travis
drive in O hours? wewmon £
Travis can drive O miles
in 0 hours.

17. Hannah has 15 trading
cards and O photographs.
She wants 10 divide them
equally onto each of 5 pages
of her binder, How many
trading cards and photographs
will be on each Page? Lessmn o5
_3 trading cards

_0_photographs
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Performance Task

Grace needs to write 30 lines of code for 8 computer program. Unit 4 ‘
Part A If she writes the same number of lines of code each day,
could Grace write the code in 5 days? Explain, F'ueﬂcy Pl'uctice
Yes. Sample answer: 5 X 6 = 30; Grace can finish Name
writing the code in 6 days.
Fluency Strategy
I You can dacompose one number by place value to subtract
Decompose 39, 97-39=7
Part B Grace tries 1o speed up her work and write 10 lines of code =
per day. But every day she ends up with 3 lines of code that Is not zgz:g ::: :Jenn; 927 _33 : g;
usable. How long would it take her to finish writing the code for her )
program at this pace? Show your work, . 97 —-39=58
5 days; Sample answer: 10 — 3 = 7. So, Grace 1. How can you decompose 10 find the difference?
writes 7 lines of usable code each day. | know that 49-28=7
4x7=28and5 X 7 = 35. So, Grace will finish -0 -n
writing the code in 5 days.
Fluency Flash
How can you write an equation to represent the base-ten
@ Reflect blocks?
2. 3.
How can you use patterns to multiply numbers by 0,1, 2, 5, and 107 a =
Answers may vary. a [&]
X X
X x
X X
45 - 23 =22 76 —43 =33
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Fluency Check
How can you find the sum or difference?

4 58~-35= 23 9. 86~32= 54
5. 68—47= 21 10.32+29= 61
6. 55—23= 32 M 24+66= 90
7. 38417= 55 12.48-27= 2
8 87-52= 35 13.37+39= 76
Fluency Talk

Why would you choose to decompose a number by place value
to subtract two 2-digit numbers?

Sample answer: | would choose to decompose to
make the subtraction easier. Then | can do some
of the subtraction mentally.

Which subtraction strategy do you find most efficient?
Sample answer: | think decomposing to subtract
is more efficient because | can complete most of
the math in my head.

Unit 5

How Ready Am I?
Name

1. Which expression can be used to represent the array?
ool A 4+4+4+4
AN ACA B. 4+3
AAA ©ax3

D. 4x4x4

2. Jenny i selling lip balm. She places 5 rows of lip balm on the
counter. There are 3 lip balms In each row. How many lip
balms does Jenny place on the counter?

A 8 B. S c. 10 ®) s

3. Ben has 3 rows of tomato plants in his garden. There are
6 plants in each row. Which equation represents haw many
tomato plants Ben has In his garden?

®e+6+6=18
B.6+6+6+6=24

C. 343+43+4343=15

D. 3434343434343=21

4. In which equation will 6 make the equation true?

A 3x[]=2
B. 4x[ |=28

©sx[]=30

D. 8x[ |=40

Assessment Resource Book 81



5. Martin will visit his cousins In

2 weeks. The number of days
in 2 weeks is shown in the
multiplication problem.
2x7=]

How many days are there until
Martin visits his cousins?

A. 4days
B. Sdays

C. 1 days
14 days

. Mabel grows carrots in her
garden as shown. Which
multiplication fact shows how
many carrcts grow in Mabel's
garden?

LrEPLEIEF?
PEPIFIIE)
PRPEIIIET
Frr>rE>r>r>rr
Lrrrr>r’*ss
PERITFEE?

A 6X6=36
B. 8x6=48

©6x9=54

D. 9x9=81

82 Assessment Rescurce Book

y 3

9.

Kira and Brandon tie 2 ballcons
to each chair at a table. They use
8 ballcons in all, Which equation
can be used to find how many
chairs are at the table?

@s=7x‘_J

B. 8x2=[|
c.[]=2x8
0. 8x[ ]=2

Rosie plants 5 rows of flowers.
She plants 7 flowers In each
row. Which of the following
equations represents the
number of flowers Rosie plants?
A 545=10 B. 547=12
©)5x7=35 D. 7x7=49

Which multiplication equation Is
true?

A 2x5=15 (B)2x6=1
C.2x8=10 D. 2X9=16

10. Which multiplication equation

does the array represent?

@2x4-s B. 4=m8x2
C.2x8=4 D.4x8=2

Learn

Rocco places game cards into 6 rows of 7.

How can you find the total number of cards?

You can decompose € or 7 10 heip you multiply,

Decompose 6 into 5 and 1,
EEEREREN

SEEEEN
EEEEN
EEEEN

SEEEEn

x
~EEEER

N
-

*mEEuEn

~
+ EEEER

g

o
x
~
L}

w

+ 35

6X7= 42

You can decompose a factorin a
multiplication fact to help you find the

Decompose 7into 5 and 2,

EX7=6x5+6x2

BX7=

6x7=

V

30 + 12

42

product, A property of multiplication HI0w Sy ot de?deo':?"“
explains why this strategy can be used. n PONS & Fc
Q Work Together

-

How can you decompose 3 X 8 to find the total number of crayons

in the box? Sample answer:

You can decompose 3 into 2 and 1.
So3xXx8=2X8+1X8, Thatis E

16 +8=24,503 x8=24.

-
3

td




On My Own .

Name

Solve. Sample answers shown.

1. How can you use the representation
to decompose 77

ax7max 5 +ax 2

4x7=

ax6= 30 +
9x6= 54

What number makes the equation true?

3. 7X7=3X7+3x%x7 4 TX?7=5X8+2x8
=_6 = 8

5. 1X9+5X9=9x7? 6. 6X2+6X2=6X7
6 =7 4 =7

. UnitS - Use Propertes to Muliply by 3, 4,6 7 8, and9 165

®aT |8

How can you decompose one of the factors to find the product?

Sample answers shown.
7. 8x6=4x 6 + 4x 6 8 9x7=5xT7 +4x7

N g
24

14

sx6= 24 ox7= 35 +
\/ \/
8x6= 48 9x7= 63

11. STEM Connection Some nurses work 8 hours
@ach day for 7 days. How many hours do some
nurses work in 7 days? Explain your strategy.
56 hours; Sample answer:

| decomposed 8 into two 4s. Then |
doubled the product of 4 X 7to get 56. .

12. Extend Your Thinking If you decompose a factor in a
multiplication equation in different ways 1o multiply, will the
product always be the same7 Explain. Yes. Sample answer:
| know this is true because if you represent the equation
with an array, the total number in the array does not
change no matter how you decompose it.

Q Reflect

How can decomposing a factor help solve 8 multiplication eguation?
Answers may vary.

Mindset

How did your strengths in other
areas help you in math?




Learn

Yazmin set up 3 rows of 9 chairs for the
talent show,

How can you find the total number of chairs? IXD w7

You can represent the problem with an array
and a multiplication eguation.

Decompose 3 into 2 and 1.
IXS=7
How can decomposing
- o 35 oc e you
- e

Find the product of the 2s fact and 1s fact.
Then add the products together,
IX9=?

>27

1X9=9

You can decompose 3s facts into a 2s fact and a 1s fact
Then, find the sum of the products,

@ Work Together

James places 7 cans each on the 3 shelves in the kitchen pantry.

How can you decompose 3 1o find the total number of cans?

Sample answer: | can decompose 3 into
2and 1.2 X 7+1x7=21.21cans

On My Own .

®ETD[SQ

Name

What number completes the equation?

3.

8.

Ixd4=_12 2. 3x_6 =6x3
24=3x 8 4. 3x_ 2 =6
IX10=10x_3 6. 0x3=_ 0
3x_ 1 =3 8 27 =3x9

How can you decompose a factor to solve the problem?
Show your thinking.

9.

n

Wyatt saves $5 each week, How much money will he have
after 3 weeks?

Sample answer: 2 X 5+1X5=15

$15

. Otto has 7 packs of 3 erasers. How many erasers does Otto

have in all?

Sample answer: 2 X 7+1X7=21
21 erasers

Caitlyn walks dogs 3 times a day. She walks dogs 6 days in 8
row. How many walks dces she take during those 6 days?
Sample answer: 2 X6 +1xX6=18

18 walks
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Choose the correct answer.
12, Which is equal to 3 X 97
A 2X94+7x9
B. 2X1+7x9
C. 3xX9+1x9

®) 2x9+1x9

13. Which is equal to 3 x 67
2x6+1x6
B. 2X14+3x3
C.3x6+1x6
D 3x3+1x2

14, Doris played in
3 basketball games.

Numbaer of

X 2-Poimters 3.Pointers
The number of baskets Baskets
she made is shown. If 4 e s :x;fgm
all her baskets were -

Z 2x3=6
2;?o|ntefs.howmany 3 3)(2_601 3x3=9
points did she score =
per game? What If they 5 2xS=100r IxS=150r
were all 3-pointers? Sx2=10 Sx3=15

Complete the table.

15. Extend Your Thinking Moustafs decomposes 3 to find the
product of 3 X B is 24, Now Moustafa needs to find the product
of 8 X 3. He says he can decompose the fact inte 8 X 2 and
add 8. How can Moustafa use a different strategy to solve?
Sample answer: Moustafa can use a property of
multiplication to solve. The order of the factors
does not change the product. So the product of
3 X 8is the same as the product of 8 x 3, 24,

0 Reflect

How can you use properties to recall facts that multiply with 37

Answers may vary.

What helped you to do your
best work?

170 Lesson « Usef

Learn

Jane is going on vacation in exactly 4 weeks,

How can you find the number of days until
her vacation?

You can represent the problem with an array
and s multiplication equation

4x7=7

Decompose 4 into two 2s
and multiply each by 7.

- i

Find the product of the 2s facts,
Then add the products together,

— ey
-A‘,‘,=|‘

%=

4x7T=7

ax7=28

You can decompase 4s facts into
two 2s facts to multiply.

Find the product of one 2s fact, and
then double the product to find the
product of a 4s fact,

Genevalizations

How are the 2s facts related
to the 4s facts?

@ Work Together

What strateqgy could you use to find 4 X 87 Show your thinking.
Sample answer: You can decompose the 4 into two
2s. Find the product of 2 X 8 and then double the
product. 2 X 8=16;16 4+ 16 =32;4 X 8 =32




. )

On My Own
Name

How can you use the 2s fact to find the unknown?

1. 8x2=16 4x8=_32
2. 2X3mb 4x_3 =12
3. 2x9=18 9x4m 36
4 5x2=10 5x_4 =20
5 6x2=12 6x4=_24

How can you decompose to solve the problem?
Show your thinking.

6. Mrs. Turner uses 9 eggs every week to make breakfast for her
family. How many eggs does she use In 4 weeks?

Sample answer:2 X9+ 2 xXx9=36

36 eggs

7. Tyler made 4 fnendship bracelets for each of his friends. How
many bracelets did he make if he has 8 friends?

Sample answer: 2 X 8 =16; 16 + 16 =32
32 bracelets

8. Luis babysits for 4 hours, He makes $6 per hour. How much
does he make in ali?

Sample answer:6 X 2+ 6 X 2=24
$24

Ueit S « Use Fropedties to Nultphy by 3, 4.6, 1,8 ma &

m

9. Error Analysis Zara found the product of 4 X 7.
She followed these steps.

« First, she found the product of 2 X 7, which is 14,

« Then, she added 14 + 14 = 28,

Zora says that 4 x 7 = 28. Do you agree or disagree? Explain,
Agree; Sample answer: | agree because when you
double a 2s fact, you get the product of a 4s fact.

10. What completes the equation?

Ix4=_12 28=-_T x4
4x 10 =10x4 5x 4 =20
4=4x 1 6x4=_4 x6
6=4x_ 4 36 =4ax9

11. Which is equal to 9 x 47

9x2+9x2

C. 5x2+4x%x2

B 9x4+9x1
D.2x4+2x4

12. Extend Your Thinking How can you use properties to find
the products of 4 X 2,4 X 6, and 4 x 07 Explain,
Sample answer: | knowthat2 X 4=8s04 x 2
also equals 8. | can decompose 4 X 6 into two 2s
facts and double the product to find 24. | know
any number multiplied by O equals 0 s0o 4 X 0= 0.

@ Reflect

How can you use & 2s fact to find a 4s fact? Explain your reasoning.
Answers may vary.

How have different ideas
and viewpoints helped you
leam better?




Learn

Oscar rides a roller coaster with 6 rows of
4 seats,

What are the different
How many people can fit on the roller Wmmcendmmpm
coaster each ride? 6 to multiply by 67

You can decompose the factor 6 You can decompose the factor 6

into 5 and 1. into 3 and 3.
EX4=7? 6EXA=7?
3x4q-12
Sx4m20
24
24
Ix4=12

Exa=24 6x4=24

You can decompose a 6s fact in different ways

Find the product of a 5s fact and add one more group
to find the product.

Double the product of a 3s fact to find the product

@ Work Together

Oscar rides another roller coaster that has 6 rows of 8 seats,
How can you decompose 6 to find the number of people that
can ride the roller coaster?

Sample answer; Decompose 6 into 3 and 3;
3x8+3x8=48

. 4

On My Own
Name

How can you use the 3s facts to find the unknown?

1. 3x9=27 6x9=_ 54
2 15=3x5 30 =5x6
3, 24=8x3 8x6= 48

4 6x3=18 6x_6 =36

How can you decompose to solve the problem?
Show your thinking.

5. Paul packs 8 boxes of snack bags for a school picnic.
There are 6 snack bags in each box. How many snack
bags does Paul pack in all?
Sample answer: 3 X8+ 3 X 8=48
48 snack bags

6. Roger places 5 basketballs in each crate, There are 6 crates,
How many baskethalls does Roger place in crates?
Sample answer: 5 X1+ 5 X 5=30
30 basketballs

7. Error Analysis Brittany places action figures on 7 shelves
with 6 on each shelf. She decompaoses to find the total
number of action figures. Do you agree with her work shown
below? Explain,
7x6=4x3+3x3 No.Sample answer: She
IX6=12+9 decomposed 7 and 6, but she
IX6=21 should have only decomposed 6.
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What completes the equation? Learn @@;@@;g@

A gardener plants 8 rows of 6 sunflowers. “""' @

8.6x7=_42 9 30=_5 x6 Seseen

How can you find the total number of TR

10.12=_6 x2 " 4x6=_6 x4 sunflowers he planted? “@sesess

L )

12.9x6=_54 13._ 60 =6x10 DR

.. e e e

WAx6=6x_1 15.6x8=_ 48 : 20000e
You can double the preduct of You can use a 5s factand a 3s

16. Which are equalto 6 X 57
Choose all that apply,

4 X 6 to determine the product
of 8 X 6,

fact to determine the product
of 8 x 6.

[}
® 5x6 eo:090 000000 000000
@3xs5+3xs 00800 1000000 +x ¢ - 21 ;000000
00000 Q00000 000000
C. 5x441x1 000000 000000
B s [ E-RsX X} T 48 O00000 a8
. 20200 000000 bt 2
® 5x5+1x5 00000 000000
eosee Q00000 *5 = 31000000 2 x =1
F.o3x34+4x1 000000 000000
Bx6=48 Ex6=48

17. Extend Your Thinking How can you explain why a number
that is a product of 6 Is also a product of 37

Sample answar: You can double the product of o You can decompose B8s facts in different ways.

3s fact to get the product of a 6s fact. The Double the product of a 4s fact to find a How can you explain

product of 6 X 2 is 12. This is double the product PrOCUCH .8 why the product of an

of 3 X 2 oris the same as 3 X 4. You can use a 5s fact to recall an 8s fact, g:::c;l‘sh:!mua ¥
@ Reflect @ Work Together a4sfact?

How can you use a property of muttiplication to find the product of
6 x 7 in two different ways? Show your thinking,

Answers may vary.

What multiplication facts can help you find the product of 7 X 8,
and how can you use them?

Sample answer: A 4s fact or a Ss fact can help you
find the product. You can double the product of

7 % 4, You can add the productsof 7 X 5and 7 x 3.

How did you make sure you
shared your thinking clearly?




5x9=_45

‘ @ lm 7. Complete each step to find the product of 8 X S using
On My Own a 5s fact and a 3s fact.
Name

1

The array represents 3 X 4. How can you use it te find the
product of 3 X 87 Oraw to show your work,

“r W Y ¢ Seestudents' drawings.
L 4b 20 2B
L 2 20 2B ¢

Ixg= 24

. Jonathan placed cubes in 8 rows, with 6 cubes in each row.

How can you decompose a factor to find the number of cubes
he placed?
Sample answer: 4 X 6 =24;24 + 24 =48

48 cubes

How can you find the products of 1 X B and 8 X 1 without
decomposing?

Sample answer: | can use properties of
multiplication. Any number multiplied by 1is itself
and the order of the factors does not change the
product so both products equal 8.

How can you use 2s and 4s facts to complete 8s facts?

4.
5.

6,

[

2%3=-'8 4x3=_ 12 8x3= 24
2x4=_8 4x4=_ 16 8x4=_32
2x5= 10 4x5=_ 20 8x5= 40

Unit8 » Use Properties 1o Mutiphy by 3,4,6, 7.8, 20d S 181

.8 X%X9=27
21+ _45 = 72
8x9=_T72
8. Errvor Analysis Tobias says that he can find the product of

4 X 8 by decomposing either of the factors into equal parts.
Do you agree or disagree? Explain,

Agree. Sample answer: He can decompose 4 into
2and 2 or8into 4 and 4,

How can you complete the equation?

9. 24 =3x8 10.7x8=_56
n.6x8= 48 122 80 =10x8
13.8x 4= 32 W.8x8=_ 64

15, Extend Your Thinking Each player in 3 game has 8 tokens,
There are 7 players in the game. How can you decompose In
two different ways to find the total number of tokens?
Sample answer:3 X 7+5X7=21+35=56or
double 4 X 7

@ Reflect

How can you use different properties of multiplication to recall
8s facts?

Answers may vary.

How confident are
you that you were
successful today?




Learn
Dustin places 9 beoks on each of 7 shelves.

How can you find the total number of

On My Own - @ |§g
Name

What number completes the equation?

books he places on the shelves?

1. 7x9=_63 2. 9x6=_54 3. _2 x9=18
: 4 Sx7m7?7x_5 5. 3 x7=m21 6. _49 =7x7
Decompose 7 into 5 and 2. Decompose 9 into 5 and 4. 7 9x9= 81 8 O xX10=10x0 9. 8x7= 56

5 °

How can you decompose to solve?

10. Alex arranges his rock collection In 9 rows with 4 rocks in
each row. How can you use a 5s fact to find how many rocks

Alex has In all?
7%x5=35 Sample answer: Students may draw a 9 by 4 array, show
5x9=45 [ ‘_I B 63 decomposing 9 into 4 and 5, then show 4 X 4 = 16,
TX9=65
2x9=18>63 o‘ 7*4=28> 5 X 4 = 20, and 16 + 20 = 36.

You can decompose 1o find products of 36 rocks

7s and 9s facts.
How can you explain why | 11, Lula’s mother buys 7 packs of smoothies. Each pack has
Use a 5s fact to help recall a 7s fact or 9s fact. | an array that represents 6 smoathie bottles, How can you use a 5s fact to find how

7 x 9 also shows 9 x 77 many smoothies she buys in all?
Sample answer: Students may draw a 7 by 6 array, show
@ Work Together decomposing 7 into 5 and 2, then show 5 X 6 = 30,

N\ 2xX6=12and 30 + 12 = 42.
Carley hangs 9 photes in @ach of 6 rows on the wall, How can you

decompose 9 to find the number of photos she hangs? 42 smoothies
Sample answer: You can decompose 9 into 5 and 4,
then add the products of 6 X 5 and 6 X 4; 54 photos.
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12, Tony knows his 4s and 5s facts well, How can he use
properties of multiplication to find the products of 7 X 4 and
9 x 57 Explain your thinking,
Sample answer: The order of the factors does not
change the product. So, if Tony knows 4 X 7 = 28
and 5 X 9 =45 he knows 7 X 4 = 28 and
9 x5=45,

13. STEM Connection There are 7 rows of desks
in Grace's computer 1ab. Each row has 5 desks.
Draw an array to represent her computer lab,
and then decompose one of the factors to find
the total number of desks in the lab,

35 desks; Sample answer:
EX5+2Xx5=25+10=35;
Check students' drawings.

14. Extend Your Thinking Ava has 10 packages of erasers. Each
pack has 6 erasers. She gives 1 pack of the erasers to a friend.
How many erasers does Ava have left? Show each step.

54 erasers; Sample answer: 10 —1=9;
I9IX6=9x34+9x3=54.

@ Reflect

What is a strategy you can use to recall a 7s fact and a 9s fact?
Answers may vary.

What did you do to stay
focused on your work?

186

Lesson 6

|

Unit 5 ﬁ. :EF
Multiply by 7and 9 (L0 <
Mame

Decide which strategies can be used to find the product of the
two factors.

1. Which of these show a
strategy for muliplying 7 3 67
Cirele all cormect strategies.
@ Tx5+ 7=

b 7Tx54+1
©) 7x3+7x3
d 7TX746

Explain or show your thinking.
Explanations may vary.

2. Which of these show a
sirategy for multiplying 7 » 77

Circle all correct strategies.
G 7xs5+7x2

bh. 7x5+2

© 7x3+7x4

d 7=7+8

Explain or Show your thinking
Explanations may vary.




Decide which strategies can be used to find the product of the

two factors.

3. Which of these show a
strategy for multiplying 9 » 77
Circle oll correct strategies.

Explain or show your thinking,
Explanations may vary.

Learn

Kyla needs to add 8 flags to each of 9 swimming pool tanes for an

upcoming meet.

How many flags does she need in total?

@ Gx 549 %3 Draw an array and write an Decompose a factor to help you
b X543 equation to represent the find the product.
unknawmn in the problem 9x8="7
) 9axa+oxd g /\
d 9x10+3 YYVYVVYY .l T
YYVVVVVYY N T N
MMM IR
\/
. *VYVYVVVVYYY 72
4. Which of thesa show a Explain aor show your thinking. ;;;;;;;;

strategy for mulliplying 9 X 97 | eynlanations may vary. VYVVVVYY

Circle oll correct strategies, VVYVVYVYYYY Ix8=72

@ axs5+9x4 9x8=? Kyla needs 72 flags.

S S You can represent a multiplication problem

© 9x7+9x2 with an array and equation.

d 9%+ How could you decompose
You can decompose a factor to help you 8, instead of 9, to solve the
solve the problem. problem?

Q Work Together
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII An artist places 7 clay bowls on each cf € shelves in a display
Reflect On Your Learning case. How can you decompose a factor to find the number of

I'm I'm still | can teach bowis the antist displays?
———— iearming. I understand, SOrRGHE Sl Sample answer: You can decompose 6 into 3 + 3.
o~ -~ You can double the product of 7 X 3 = 21to find
arti ays 4 wis.
O 9, {J O the artist displays 42 bowls

BB Masth Probe - Mulipky by 7 and 9



- 13. STEM Connection Finn is drawing a picture of a hotel,
On My Own @&—ﬁ) |§2 9
Name

How can you draw an array and decompose a factor to show
your work?

1. Abox of soup cans Is arranged in 8 rows with 6 cans in each
row. How many cans of soup are in the box?
Sample answer: Students may draw an 8 by 6 array,
decompose 8 into 4 + 4, then double the product of
4 X 6 =241tofind 48

48 cans of soup

2. The cafeteria has 6 tables and 4 seats at esch table. How
many seats are In the cafeteria?
Sample answer: Students may draw a 6 by 4 array,
decompose 6 into 3 + 3, then double the product
of 3 X 4=12%0 find 24

24 seats
What completes the equation?

3.8x5=_40 4 42 =7x%x6
5.6X_ 9 =54 6.3x7=_21
7.9%x3=_27 8.4x_9 =36

9. 7 x8=56 0.72=_9 x8

1. 32 =4ax8

B

12.4x7= 28

Unit5 « Use Properties fo Mutipy by 3, 4,6 7.8, and &

The first floor has 9 hallways with 3 doors in each

hallway. The second fioor has 9 hallways with some

doors In each hall.

a. How many doors are on the first floor?
81

b. How many doors are on the second floor
if there are 6 doors in 2ach hallway?
54

14. Sawyer wants to find 7 X 9. She starts by drawing an array.
Number her next steps in the correct order 10 find the product,

2 Shefinds the products 7 X dand 7 X 5.

4  She finds the product of 7 X 9 = 63.

1 She decomposes the factor € into 4 and 5.
3  Sheadds 28 and 35.

15, Extend Your Thinking Braxton lost his homework
assignment, but he still has his answer sheet. For ane of the
problems, he drew an array with one factor decomposed into
5 and 2. What might have been the problem? Explain.

Sample answer: 7 X 8; his problem could have been any

multiplication equation with the factor 7.

Q Reflect

What Is a strategy you can use to solve a multiplication problem
with an array?

Answers may vary.

How did you know when there
was a problem?

\




Name ere are S5 of marbles. oach buys 8 packages
Unit Review 6. Th 3 bags of marbl 9. Coach Kofi buys 8
Each bag holds 4 marbles. of tennis balls, Each package
Vocabulary Review Which equation could be used has 6 tennis balls, Complete
to determine the total number the equation to show how
Choose the COBEY WOs 40 copieie Such sesmace. of MArbles? pesson 55 many balls he buys in
array product A 3IX2+3x1=7? all. pimsan 5.5
@ 3x2+3x2=7 Bx6=6x 4 + 6 x4
decompose unknown ¢
multiphcation C.4X244X2=7 8x6=24 + 24
D. AX4+4x1=7 gx6=48
1. Whenyou decompose , you break a number into
different L
PONES G 7. There are 7 cars in the 10. Kelly buys 3 bags of erasers.
parking lot, and each car has Each bag has 8 erasers. To find
4 tires. Which equation could how many erasers she buys in
2. You can decompose a factor in a_multiplication fact to be used to show how many all. she doubles 8 to get 16,
help find the product, Less 5o tires there are In total in the What should she do next?
parking Iot? pessos 5.5 (Lesson $:24
A 7X44+7x1=7 Sample answer: She
3. The  product  is the answer to a multiplication ®7x2+7x2=? should add one more

@QUANON, Leson 1 C. 4%X2+3x2=7 810 16, or find 16 + 8 = 24,
D 4X443%x1=7

11. Explain how knowing
2 X 9 =18 can help solve

4, Arrays can be used to find the _ UNKNOWN  in a word 8. A bucket containing 8 markers 4%9 g
problem. tewen =9 is placed on each table. There & o
are 7 tables In the classroom., Sample answer: You can
How many markers are there double the product of
In al? gesson 56 2x9togetd x9.18
5. Aln) array is an arrangement of objects in rows There are 56 markers.

and Columns, (essen -0 doubled is 36,4 X 9 = 36,

Unit5 - Use Properbies to Mutiply by 4,4, 6, 1.8, and % 193 194 Unit8 - Review



Performance Task

Part A: The nurse needs to deliver medication to 7 patients and it Unit 5
will take about 8 minutes for each patient. How many minutes will Huency Practice
it take to deliver all the medication? Represent two different ways
to decompose 1o solve the problem, Name
56 minutes; Sample answer:8 X 7=4xX744x7;
8X7=8X5+8x2,8Xx7=56 Fluency Strategy
Part B: The nurse provides medication 1o each of his 7 patients. You can use partial sums 1o find & sum.
Each patient receives 2 units of medication. They take this
medication 2 times each day, How many units of medication does Partial Sums
he need to provide medication to all his patients in one day? 265
Show your work. +513
28 units; Sample answer: 7 X 2 = 14; 400 < 568} 167 g :"" e hundeade.
£ dd the tens

MUMX2=10%x2+4x%x2 53 8 Add the ones.
Part C: It takes the nurse 6 minutes to review and update a 778
patient’s chart. How long will i take him to review 2 patients’ 265 + 513 = 778
charts? 4 patients’ charts? 8 patients’ charts? Explain how you
found your answers. 1. Use partial sums to add.
12 minutes; 24 minutes; 48 minutes; Sample answer: 536
| know 2 X 6 = 12. | can double the product of 2 and +143
6 to find the product of 4 and 6, 24. Then | can 50300.128 6(;3
double the product of 4 and 6 to find the product of

6+3 ]
8 and 6, 48. L)
® Fluency Flash

How can you write equations to add each place value and add
What are some different strategies you can use to multiply? the partial sums? Use the base-ten blocks to help.

* __ 20+50=70;
* 200 + 100 = 300;
* 6+ 70+300 =376

Unit5 « Usze Properties 1o Multiply with 3, 4.6, 2.8 snd 5 197




QML
Fluency Check IGN|TE! -

How can you find the sum or difference? Name

3.284+315= 599 10.84 4+ 12 = 96
e ik —— How Many Rectangles?

473-3= 61 [nw06+292= —L Look at each rectangle. What do you notice?
5. 354+ 214= 568 12.65—-24= a1 Part A
6. 36448 = 84 13.323 4 M2 = 735
7. 182 + 604 = 786  |14.88-47= a
B 96-32= 64  |15.572+415= 987 mi
9. 346 + 520 = 866 16. 52 + 3¢ = 86

Fluency Talk I i O N =
How would you explain to a friend how to use partial sums for \ PartB

i _digi 7
S00g tas -G Bl How many square tiles between 10 and 15 will make

Sample answer: 214 4 572 = 786. To find the sum the most rectangles? 12
of 214 + 572, | added the hundreds 200 + 500, the
tens 10 + 70, and the ones 4 + 2. Finally, | added the L T s e P e
partial sums, 700, 80 and 6, to find the sum, 786. O s PP RO IO T
See students' work.
Number Number of
X Dimensions of Each Rectangle

Use an example to explain how you would subtract two 2-digit of Tlles Rectangles

numbers using decomposing. 10
Sample answer: 65 — 42 = 23; First you would

"
subtract the tens. 65 — 40 = 25. Then you would
subtract the ones. 25 — 2 = 23, 12
13
14

15
— =
198 MRS Muency e 200 ignited « How Meny Rectsgles ‘




Learn

Grayson will cover a bulletin board with
square sheets of paper. He wants to use the
fewest sheets, without any gaps of averlaps.

How can Grayson determine the
number of sheets he will need?

You can place unit squares on a Count the unit squares that
figure without gaps or overlaps. cover the figure.

This 1s called tling,

.
Tunh

-t
1unk T unit

tunn

- 88 3 B8S S
& 7 '8 9 %
o2 13 ¥ 15

Grayson will need 15 sheets to
cover the bulletin board

Area is the amount of surface Inside a figure. You can find the area of
a figure by tiling it. The area of the bulletin board is 15 square units.

You can find the area of a figure by tiling,
and then counting the unit squares that
cover the figure,

(Q work Together

How might the area be
different if there were

gaps of overlaps?

How can you find the area of this figure?

Sample answer: | can tile the
figure with unit squares with
no gaps or overlaps. 8 unit
squares cover the figure,

Tl

On My Own - @)Iﬁ’i

Name

1. Which figure is tiled correctly to find the area? Circle it.

What is the area of the figure? Draw to complete the tiling.
2. - &

| l

area= 18 square units

area= 16 square units

area = 24 square units
area = 18 square units
6. Why is it important that there are no gaps or overlaps when
tiling a figure?
Sample answer: If there are gaps, you might count
fewer tiles than you need. If there are overlaps,
you might count more tiles than you need.

7. Label the length of
each side of the 1  unit
unit square.

1  unit

Unit 8 + Connect Aveas snd Mutiplication 203



Draw to represent the area by tiling.
Learn

8. area = 20 square units 9. area =18 square units Misha is choasing a new ak
Sample answer: Sample answer: rug for her room.
How can she decide which ah Bn
rug will cover the greater area? J_
g

10, STEM Connection Sam designs a doghouse You can tile each figure tei
A { L]
with unit squares. You can Whist inform:

He plans to cover the floor with a mat and will need

to know the area, How <an you tile the figure below use square feet to measure £ x
the area of each rug. Yol deckie which sk

square 1o choose?

to find the area of the daoghouse floor?
6 square units

2 units.

Count the number of square feet that cover each figure,

3 unils

m:
"
1. Why is using unit squares rather than circles better to P
determine the area of a figure? i
Sample answer: Unit squares can be placed -
14 an

together without gaps or overlaps. 3R
12, Extend Your Thinking How does the number of unt squares Both rugs have an area of 24 square feet,
along the side of a figure relate to the length of the figure?
Explain. Sample answer: The length of a side of a Area can be found by tiling & figure and counting the unit squares,
figure is equal to the sum of the lengths of unit Unit squares can have speclfic side length measurements,

squares that cover that side of the figure. Q@ work Together

Reflect
0 A red carpet is 4 meters long and 3 meters wide. A green carpet

How does tiling a figure help you find the area of the figure? Explain. 15 4 meters long and 5 meters wide. Which carpet covers a
greater area? Explain how you know.

Green carpet; Sample answer: | can draw to

How have you built & represent tiling each carpet. The area of the red
positive relationship with carpet is 12 square meters, The area of the green
classmates? carpet is 20 square meters.

Answers may vary.




How can you find the area of the figure? Label the area with the unit.

2. 3.
20 square 18 square 36 square
area = ___ units area = _units area = _units
BT | 6.
B
O «
ir
st m 1 Fv]d %0
13 square 15 square 25 square
area = meters area = feet area = ya'ds
.h:m .l in
Tem i
1w
Tem
21 square 16 square
area = centimeters asrea = inches

Unit 6 - Comnect fveo nsd Nultplcation

Sample answer: Use the same unit that is given
for the side lengths of the figure being tiled. For
example, if the side lengths are measured in
inches, the area is measured in square inches.

10. Jaime's workshop table s 20 square feet. Which of these
could be the side lengths of the tabie? Explain
2 feet and 10 feet 4 feet and 5 feet 2 feet and 5 feet
2 feet and 10 feet; 4 feet and 5 feet; Sample answer:
| drew grids of squares and counted the squares. 2 rows
of 10 is 20; 4 rows of 5 is 20; 2 rows of 5is 10

- (En'r“ ) I 9. How do you decide the unit 1o label the area of a figure?
On My Own REPLAY gg
Name )

11, STEM Connection Sam cesigns a school
garden. Each planter box wall be 1 foot by
1foot, What is the area of the garden?

18 square feet

12. Extend Your Thinking How can ycu
find the area of the figure? Explain,
The area is 10 square units.
Sample answer: Count the unit
squares. The 2 half squares

make 1 whole square.

Q Reflect

How can you use unit squares to determine the area of a rectangle?
Answers may vary.

What helped you feel calm
when you felt angry?




Learn On My Own - @&L'S] Igg

Marcus is trying to find the area of the

4 ; Name
rectangle with square inch tiles, but he o o e P—
runs out of tiles. 1inch
Hn(h. :o;ca:ﬁy:u lnl;ol the side lengths and find the area
What strategy might he use to determine e rectangle
the area of the rectangle? 1. a 2.
¥ One Way Count the » Another Way Count the number of -2 a

number of tiles in one row. rows and the number of tiles in one

Then draw to complete the row. Then write a multiplication area=__8 _ square units

tiling and count the equation to represent the total number 32
number of tiles. of tiles. o= e units
ax5=20 How can you determine the area of the figure?
Label the area with the units.
1inch 1inch 3. e 4. it
anh. ‘"“". 3em
The area of the rectangle 24 square centimeters
is 20 square inches. 36 square feet
Mutltiplication can be an efficient way to Explaining 5. 6.
determine the area of a square or rectangle, 2
Why might you use ye m
multiplication instead of
?
@ Work Together Uling 1o find the area? 16 square yards wom
60 square meters

How can you find the area *q

of the square using the side length? 7. Why does tiling te find the area of a rectangle result in the

Sample answer: A square has 5cm same answer as multiplying to find the area? Explain.

4 equal side lengths. | can use Sample answer: Tillng a rectangle creates rows with the

5 % 5 to find the area. The area same number of tiles in each row, like an array. You can

is 25 square centimeters. write a multiplication equation to show the number of

rows multiplied by the tiles in each row, which is the same

result as the number of tiles used to cover the figure.
Unit 6 - Connect Ares and Nubiplication 2M




How can you find the area of the object?

8, 9,
5h
aft
The area of the window is The area of the baking sheet
40 square feet is 63 square inches,
10. Enrique painted a mural on his sister's wall. g

The side lengths of the wall are shown, What is
the area of the wall that Enrique painted?

72 square feet
1. Tonya is wrapping the front cover of her

notebook. The cover Is 10 Inches long and
B inches wide. What is the area of the cover?

80 square inches
12, Extend Your Thinking A closet ficor Is the shape of a
rectangle. The area of the floor is 18 square feet. What could
be the length and width of the floor?
Sample answer: 3 feet and 6 feet; | know 3 multiplied
by 6 equals 18.

@ Reflect

How can you use multiplication to find the area of a rectangle?
Answers may vary.

Mindset

What conseguences were
there for your decisions?

Learn .
Deka's school is planning to put in a new playground, . 3m
VE ]
How can you determine the area needed for am
the new playground? e
The playground is a compaosite figure. it is made of two or more figures.
¥ One Way Decompose the ¥ Another Way Decompose
figure into a square and rectangle.  the figure into two rectangles.
S5m Sm
am 3m "w ~
sm “2... Sm Em 5m
im "”. 2m 0
1om 0
5x5=25
2x5=10
25+10=135

\ -

You can determine the area of a composite
figure by decomposing it into rectangles or

squares, Then you find the area of each | YWhat changes when you
figure and add the areas. decompose a composite

figure in a different way?
@ Work Together

How can you decompose the figure to find the &m

area of the playground? Sm

Sample answer: Decompose the figure =

into 3 rectangles, find the area of each, om
and add them; 9 + 9 + 30 = 48; -

48 square meters, i




the square is 12 square inches, How can you determine the
Nam B area of the rectangle?

Sample answer: You can subtract 44 — 12 = 32,

‘ @ ! 7. A composite figure is made of a rectangle and a square, The
On M_ /| area of the composite figure is 44 square inches, The area of
=

Draw one or more lines to partition each figure. Then find the area of

the composite figure. Sample answers shown. The area of the rectangle is 32 square inches.
1. g 2. Y 8. Paul says that the area of the figure is & cm
L 68 square centimeters. How might he
51 se have determined the area? e E o
" A% 08 Sample answer: Decompose -
s se the figure into 2 rectangles.
area= 25 + 9 18 + 50 = 68; 68 square centimeters.
B A 1]
area= 34 square feet 9. STEM Connection Sam designs a playground for L]
3. Squ aea=_ 20 + 60 the city park. What is the area of the playground? 5m ‘-:
5
ares = _BO  square feet 75 square meters u g B
F el )
3. S 4. 41n Do
4in -
7n 5. B Ein 10. Extend Your Thinking
3 n I8 : The same park Is shown twice. '
[GIO - How can you find the ares of 3 m) ™
srea= 20 + 30 the park two different ways? 2
e area=_6 + 24 55 z
area = 50 square inches SRrS maters;
SRS area = 30 square inches Sample answer: 24 + 15 + 16 = 55,40 + 9 + 6 = 55.
5. &m 6. 2in 2n
Wm 27 in 2. e Reflect
g 2n How do you determine how to decompose a composite figure to
0™ 6En §n -
2 | find its area?
o ol n 2m Answers may vary.
- Tin T What happened when you
showed others you respect
area=_50 + 60 e i their ideas?
area= 110 square meters area=_28 squareinches

< Unit 6 + Connect Area md Mubipication 218




Unit & m Four students show expressions to find the area of the
Area following figure.
MNama SN
2m Tm
Four students show expressions to find the area of the
following figure. am Tm
im
2m Tm W0m
am Tm Decide if each student's process will provide a correct way to
determine the area,
0m 3. StudentC Explain why you chose
i IX24+10x7 yes or no,
Decide if each student’s process will provide a cormect way to Explanations may vary.
determine the area. Circle Yes or No.
@@ Mo
1. Student & Explain why you chose
Ax104+TxT yes ar no.
4. Student D Expiain why you chose
Explanations may vary.
" yary Ox243x%x7 yes arno,
Circle Yes or Mo. Explanations may vary.
Circle Yes or No. e g
Yes  (No)
Yes @
2. Student B Explain why you chose
TH7+9x3 ¥es ar na.
Explanations may vary. Reflect On Your Learning
Circle Yas ar Mo. lam I'm still | can teach
@ Ne confused. leamning. LACERG. someone else.
O O O O
\J J

218 Mats Prube « Mea




Learn

In the cafeteria, a table is 18 feet long
and 4 feet wide.

How can you determine the
area of the table?

Step | Decompose a side length
Find the area of each part.

10 ft an

0 xd-40 Ex4-32 Mn

You can find the area of a rectangle by
decomposing a side length and adding the

areas of the smaller parts.

Q Work Together

an

Step 2 Add the areas of each
part to find the total area.

1BX4=10X4+EX4
V

40 + 32

N

72

Bx4=72

The area of the table is
72 square feet.

Why would you
decompose the side
length Into 10 and 87

How can you decompose the
rectangle to find the area?

The area is 65 square feet.

Sample answer: Decompose 13
into 10 and 3. Multiply 10 X 5
and 3 X S and then add the products, 50 + 15 = 65.

On My Own

Name

. Error Analysis Joseph finds the

How can you decompose to find the area of each rectangle?

5cm 3 om 2, 5m X m

dem om

4x8=4x 5 +4x 3 EX15=6x_ 5 +6%x 10

4x8= 20 + 12 6x15= 30 + 60
4x8= 32 squarecm 6X15= 90 squarem
i3 in 4, 141

%

8x13=8x 10 +8x 3
8x13= 80 + 24
8 x13= 104 squarein,

8XxM=8x 9 +4+8x 5
72 +__40
12

BxXu=
BXxWm= square ft

17 n.

area of the rectangle, His work i
is shown below.

IXIT=2xX1041%x7
Will the area be correct? Explain.

No. Sample answer: The area will not be correct.
Joseph should multiply 3 X 10 and 3 X 7 and add
the products to find the area of the rectangle.

Un € « Connect Aeee and Mubiplcation 221



How can you decompose the rectangle into two smaller
rectangles to find the area? Sample answers shown. Learn

Guillaume helps plant a city garden in the park.
What is the area of the garden?

6. wn 7 %5 m

gn

8x17=8x 10 +8x 7 5x16=5%Xx 10 +5%X_6

ST S . Ex0a 2B N You can decompose the composite | Add the areas.
Bx17= 136 squareft Ex16= 80 squarem figure into 3 rectangles. Determine & m
the area of each rectangle, tm

8. The trampoline has a rectangular jumping mat. 5 m awm 2l 0

How can you decompose o find the Vo S |sauere | m

area of the jumping mat? ] L

m - 2 m| 6 squae m

Sample answer: | can decompose 14 into S .

10 and 4 and multiply each by 7. Then add am .

the products, 70 4 28. The area is 98 square feet. _M:_M_ 346410=19

The area of the garden is

9. Extend Your Thinking Jordan multipbes to find the area of a 1X3=3 2x3=6 2x5=10 19 square meters.

rectangle in square inches. His work is shown.

OxX3+09xN=126 You can use representations to help you W
What are the width and length of the rectangle? Explain, ::;:;:?S::;:e‘:ﬁ:;‘: '.Tg?:t;lrategy How can you-decompose
9 ft and 14 ft; Sample answer: Since 9 is used as a factor gecompose the figure. the figure & different way?
twice, it is the width. 3 + 11 = 14, so the length is 14.
@ Work Together
@ Reflect
Ray's garden is 4 yards wide and N
How can you decompose to determine the area of a rectangle? 4 yards long. Bonita's garden s
Answers may vary. 3 yards wide and 5 yards long.

. Whose garden has a greater area?
How did it help to Show how you know.

understand your
X Ray's; Sample answer: 3
fealings teday? a Z s 16:';' % 5=15 Ray's Garden Bonita's Garden

i
MK




‘ @) l@ 5. Error Analysis An artist produced a painting
On My Own on three panels, which are to be set side-by-

side. JoAnn and Joshua each find the same 1
Name _ . total area of the painting. Is thelr work correct?

Explain, . -
How can you solve the problem? AREEINES

5 ~oAnn Joshus
1. Marissa is making a banner that = Axzmd 1hibime
15 15 feet long and 4 feet wide. hb ;"f*:m ;’:‘f‘:m
What is the area of the banner? i b
They are both correct. Sample answer: JoAnn found the
60 square feet
e area of one panel and then multiplied by 3. Joshua
2. Some students are making a rectangular 78 added the widths of the decomposed rectangle to find
poster for school. Their poster is 7 feet an l the total width, and then multiplied by the length to find
long and 3 feet wide. The teacher wants the area.
them to increase the length of the poster 10N ..
10 10 feet. How will the new length change 6. Alejandro designs a patio for his backyard. 4m
the size of the poster? Explain. What s the area of the patio?
The area will increase by 9 square feet, Sample 106 square meters o
answer: The original area is 21 square feet. The -
new area is 30 square feet. 30 — 21=9. 7. Extend Your Thinking A piece of fabric
3. For a project, Huang cuts three rectangles from felt, has an area of 24 square inches,
How do their areas compare? Explain. a. What could be the length and width of the piece of fabric?
Em G Sample answer: 4 inches, 6 inches
tin l——‘l l—l” = b. How can you find all possible lengths and widths of the
din,
— ’- — — - o peece of fabric?
. Pes S Sample answer: | can find all the basic facts
The areas are all equal. Sample answer: with a product of 24.
Muitiply the length and width of each e Reflect

rectangle to get 36 square inches, 2"
When might you decompose a side length to find the area

4. Talla paints a large T on the wall of her room, of a rectangle?
How much of the wall is covered by the T7 °
Answers may vary. How did you show that you
understood your partner's
32 square feet point of view?

in
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- Review T =

Unit Review neme 7. How can you find the ares of | 10, Which rectangle has an area of
the rectangle using tiling and | 32 square units? [Lewson 631
Vocabulary Review unit squares? Explain, s sy | @
10 urits
Choose the correct word(s) to complete each sentence. |
Tunes
multiphcation square units ‘
decompose area Sample answer: Tile the ?
composite fiqure unit square rectangle with unit squares |
it o with no gaps or overlaps. \
Create 7 rows of 10 unit
1. The area of a figure is the amount of squares. The area is .
surface inside the figure. You can find area by counting the 70 square units, I

number of square units that cover the figure with no overlaps

OF GOPS. fesson &) 8. Which equation can be used to |

determine the area of the :
rectangle? wessen 65 |

15 o I
2. Whenyou decompose  afigure, you break it into sl ‘
Pans. fesson 65
A 5410+5+5="7 |
B. 5X10x5x5=2 f
3. Square units are used to measure area. Lo &1 C. 5X14+45X5="7 :
5X1045X5=7? =
4. Aln)  unit square has side tengths of 1 unit, desen &1 9. What is the area of the figure? |
1 evacn 64| i
Sem
7 em
5, Aln) composite figure is made up of two or more m ;
figures. nessos -4 gcm |
Gem |
\
10cm

6. You can use the side lengths and __ multiplication 1o !
find the area of & retangle. eson 61 70 square centimeters 1

Unit6 - Comedt Aveo ond Multglication 227 228 Unit6 « Revew



v

1. Which equations can be usec
10 find the area of the figure?
Choose all that apply. resmes

4 B

A 4XAX5=7
@ ax9=2
C. 4X444x9=72
@ 4xa+axs=2
E 4+9=7
F 4+4+4+5=2

12, How can you write an equation
to find the area of the square?
Explnh. Lasson &)

6N

Sample answer: 6 X 6 = 36;
Area = 36 square feet;

| know a square has 4 equal
sides so | know | can
multiply 6 by 6.

®ETo |0

13. Milan is putting carpetin a
reom. He measures the room.
What is the area of the room?

fLesson 66|

4y

Iyd W yd

tyo

7yd
52 square yards

14, Frank is making a block letter F
for his name. How many square
inches of paper does Frank
need to make the F? Lessw s

in

24 square inches

Unit & + Connect Aees end Mubiphcation 229

Performance Task

Sam is drawing plans for a room
he is adding on to a house,

Part A: How can you explain

the steps Sam needs 10 take to
find the total area of the room?
Sample answer: First,
partition the figure into
three rectangles. Next, find
the area of each rectangle.
Then, add the areas
together to find the total
area of the figure.

Part B: What equations can you use to find the area of the room?
Sample Answer: 4 X 3=12;2x4=8;7 x10 =70;
124+8+70=90

Part C: Sam wants to cover the floor of the room with carpet.
How many square feet of carpet does he need?

90 square feet

10 ft

10ft

@ Reflect

How are area and multiplication related?
Answers may vary.




Unit 6
Fluency Practice
Name
Fluency Strategy
| You can decompose by place value to subtract.
Decompose
498 - 257 =7
Decompose 257. 257=2004+50+7
Subtract the hundreds. 498 — 200 = 298
Subtract the tens 298 — 50 = 248
Subtract the ones. 248 - 7= 241
498 — 257 = 241

1. How can you decompose to find the difference?
763 =421=7?
421= 400 + 20 + 1
763 - 400 =363
363—-_20 =343
33— 1 =342

Fluency Flash
How can you write an equation to represent the base-ten blocks?

- BB

344 - 223 =121

- BB

479 — 343 = 136

Unit & + Comnect feva and Nultpication 231

Fluency Check
How can you find the sum or difference?

4. 496 ~ 135 = 361 1. 86 -55= 31
5. 858 — 624 = 234 12. 572 + 317 = 889
6. 997 — 265 = 732 13. 371+ 426 = 797
7. 142 4 256 = 398 14. 764 — 32t = 443
B.284+12= __ 396 15. 678 — 245 = 433
9.98—-24= 74  116.865-124= 741
10. 569 — 451 = 18 7.79-12= 67
Fluency Talk

How would you decompose a number by place value to
subtract two 3-digit numbers?

Sample answer: First, | write the number being
subtracted in expanded form. Then | subtract
the hundreds. Then | subtract the tens. Finally,
| subtract the ones.

How does place value help you use partial sums to add two
3-digit numbers?

Sample answer: After | write the addends by place
value, | can add the hundreds together, the tens
together, and then the ones together. Then | add
the partial sums,




:\\-\

lossary/Closario

English

Spanish/Espafiol

area The amount of surface inside a
2-dimensional figure. Area can be

measured by covering the region
with unit squares.

3
1 2 3
2
A 5 6

area La cantidad de superficie
dentro de una figura bidimensional.
El area se puede medir cubriendo la
region con unidades cuadradas.

3
1 2 3
2
A 5 6

cc

compatible numbers Numbers ina
problem or related numbers that are
easy to work with mentally.

numeras compatibles Ndmeros
en un problema o numeros
relacionados que son faciles de
calcular mentaimente.

composite shape A composite shape
is made up of two or more polygons.

figura compuesta Figura conformada
por dos o mas figuras.

denominator The bottom number in

a fraction.

In -g-. 6 is the denominator.

denominader El numero inferior en
una fraccion.

En -2-. 6 es el denominador.

divide To separate into equal groups.

V/

9+3=3

divider Separar en grupos iguales.

/i

9+3=3




Spanish/Espadol

equal groups Groups that have the
same number of objects.

grupos iguales Grupos que tienen el
mismo numerc de objetos.

equal sharing Equal sharing means
that objects are shared equally
among groups.

reparto equitativo Compartir
equitativamente significa que los
objetos se comparten por igual entre
grupos.

equivalent fractions Fractions that
have the same value.

fracciones equivalentes Fracciones
que tienen el misme valor.

expanded form The representation
of a number as a sum that shows the
value of each digit,

Example: 536 is written as
500 + 30 + 6.

forma desarrollada Representacion
de un numero como una suma que
muestra el valor de cada digito.

Ejemplo: 536 se escribe como
500 + 30 + 6.

factor(s) A number that divides a
whole number evenly. Alsoc a number
that is multiplied by another number.

3xXx6=18

tt

factor Numero que divide
exactamente a otro nimero entero.
También es un numero multiplicado
por otro numero,

3x6=18

|

fraction A number that represents
equal parts of a whole or & set,

fraccion Numero que representa
partes iguales de un entero o un
conjunto.

gram A metric unit for measuring
mass.

grame Una unidad métrica para
medir masa.

G2 Glossary




English

Spanish/Espanol

Kk

key Tells what or how many each
symbol stands for.

Favorite Pet

clave Indica qué significa o cudnto
vale cada simbolo.

Animal domeéstico favorito

Clave:

kilogram A metric unit for measuring
mass.

1,000 grams

kilogramo Unidad métrica de masa.

1,000 gramos

Ll

line plet A graph that uses columns
of Xs above a number line to show
frequency of data

X
X X X
X XXXX XXXX

012345678910

cdiagrama lineal Grafica que usa
columnas de X sobre una recta
numerica para mostrar la frecuencia
de los datos.

X
X X X
X XXXX XXXX

012345678910

liquid volume The amount of liquid in
a container

volumen liguido La cantidad de
liquido en un recipiente,

mass The amount of matter in
an object, Two exampies of units
of measure would be pound and
kilogram

masa Cantidad de materia de un
cuerpo. Dos ejemplos de unidades
de medida son la libra y el kilogramo.




English

Spanish/Espafiol

multiple A multiple of a number is
the product of that number and any
whole number,

Example: 15 is a multiple of 5
because 3 X 5 =15.

multiplo Un maltiplo de un numero
es el producto de ese numero por
cualquier otro numero entero,

Ejemplo: 15 es multiplode 5 porque
IX5=15

multiply To find the product of two
or more numbers.

Example: 4 X 3 = 12. Four groups of
three are equal to twelve, It can also
be thought of as repeated addition:
3+3+3+3=12

multiplicar Calcular el producto.

Ejemplo: 4 X 3 =12. Cuatro grupos
de tres son igual a doce. También se
puede pensar como una suma
repetida:3+3+3+3=12.

Nn

numerator The top numberina
fraction; the part of the fraction that
tells how many of the equal parts are
being used,

numerador El numero superior en
una fraccidn; la parte de la fraccién
que indica cuantas partes iguales se
estén usando.

Pp

perimeter The distance around a
shape or region.

—

T G

Bem+3cm+B6em+3em=18cm

perimetro Distancia alrededor de
una figura o regidn.

T G

Gem=+=3ecm+6em+3ecm=18cm

polygon A closed plane figure
formed using line segments that
meet only at their endpoints.

OO

poligono Figura plana cerrada
formada por segmentos de recta que
solo concurren en sus extremos.

OO0

G4 Glossary




English

Spanish/Espaniol

product The result of multiplying two
or more numbers.

3Ix4=12

t

product El resuttado de multiplicar
cdos 0 mas numeros.,

3x4=12

t

Re

mombus A quadrilateral with four
sides of the same length.

rombo El cuadrilétero con cuatro
lados del mismo largo.

right angle An angle of a square
corner (90%).

90"

dngulo recto Angulo que mide 90°,

90"

round To change the value of a
number to one that is easier to work
with, To find the nearest value of a
number based on a given place value.

Example: 27 rounded to the nearest
ten is 30.

redondear Cambiar el valor de un
numero por uno con el que es mas
facil trabajar,

Ejemplo: 27 redondeado a la décima
mds cercana es 30.




English

Spanish/Esparfiol

ss

scale Equally spaced marks along
an axis of a graph.

escala Conjunto de nimercs
igualmente separados en un lado
de una grafica,

scaled picture graph A scaled picture
graph uses a symbol to represent
more than one amount or value.

e

pictografia a escala La pictografia a
escala usa simbolos para representar
mas de una cantidad o un valor.

thousands A place value of a
number.

Example: In the number 1,253, the 1
is in the thousands place.

millares Valor de posicion de un
numero.

Ejemplo: 1,253, el 1 esta en el lugar
de las unidades de millar,

time interval The time that passes
from the start of an activity to the
end of an activity,

intervalo de tiempo Tiempo que
transcurre entre el comienzoy el
final de una actividad.

Uu

unit fraction Any fraction with a
numerator of 1.

1t 11

7733

fraccién unitaria Cualquier fraccion
cuyo numerador es 1.

1 2.1
233

unknown factor The missing number,
or the number to be solved for, in a
multiplication equation.

incégnita El namero faltante o el
nimero que se debe hallar en una
ecuacion de multiplicacion.

G6 Glossary



